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OQUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following imstructions carefully before attempting guestions.

. There are EIGHT questions divided in Two Sections and printed both in HINDI and in ENGLISH.
Candidate has to attempt FIVE questions in all.

Quéstion no. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted choosing at
least ONE from each section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission certificate which must be stated clearly
on the cover of this Question-cum-Answer (QCA) booklet in the space provided. No marks will be given
for answers written in medium other than the authorized one.

Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in chronological order. Unless struck off, attempt of a question shall
be counted even if attempted partly. Any page or portion of the page left blank in the answer book must
be clearly struck off.
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SECTION—A

Q.1. Frfatem v fomeromens fewfirai frfeag, S ore 150 w5 ¥ s ¥ o9 8 .

Write analytical notes on the following in not more than 150 words each :— 10x5=5(

’W%ﬁuﬁwmﬁwﬁ%mjwaﬂ?aw@ﬁ%ﬁw%aﬁf
BT & w9 OH # oW g

“Management is defined as attainment of organisational goals in an effective and efficient manner
through its four functions’. - 10

WISACA® g3 B9sT & g0 Aded 1 S w3

Developing leaders through organisational structural design. 10

FIGHICHE IR 1 Hehooiens Hisel #A deX & YeH U4 I fwasmr o3
EIEIEG

The conceptual model of organisational behaviour is based on micro and applied analysis of
human behaviour. 10

TR FAIGA UF IcaEehdl AT Mg qE T

‘Employee morale and productivity are not mutually dependant’. 10
ST A el wd vl genwem & R @ o wwiiasw
Empowerment of people for efficient and effective functioning in Teams. 10

2. TR 300 Wt ¥ afw ¥ wd fvm whe

Each answer shall not exceed 300 words :— 50

. 2(2) ‘ﬁﬁwaﬁmaﬁ%mﬁﬁ@mﬁﬁw%uﬁ%wwﬁﬁ%ﬁ

g7 T |

‘High internal locus of control exhibits more political behaviour in an organisation.” Discuss.
20

RAG X Sl Y s @ PromRe 3 A wia @ sPeht B osRRRe w@
Bl TER 7w o Age W B WA W GHE ST @7 Swe gR[ P
T T AN |

Theory ‘X and Y” model reflects the attitude of a person in performing the task. How ? Does
this influence the selection of the leadership style ? Explain with examples. 7+8=15
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Q. 2c) W9 A¥FeT & g ffEmew @A’ (JCM) F1 a9uiA SiNg | 78 FRan aRen #
gy 3wl 8 e 8 7

Describe the ‘Job Characteristics Model’ (JCM) of Job design. How it can be useful in

Employee motivation 7 &+7=15
Q. 3.9% STX 300 wesl ¥ StUw ® WEI BT WIRe — ‘ 50

Each answer shall not exceed 300 words :—

Q. 3(a) YA TA TAUT W/ FheTT AT IS @Al UX @ @I |
Discuss the concept and advantages of Flexible Systems Management. 15

Q. 3(b) Tavaemrdipg spf-sEsen W, W@ R OFER FUED SR SEmQl Y9"T w1 owmEe
I FE B P T HINT

How technology enables an effective and efficient management in a Globalised Economy ?

Explain. 20

Q. 3(c) T HINQ fF T PR WU HUSEHG, YoUTeN ST FIOwE 1 TR Hed g |

Explain how motivation is a function of valence, expectancy and instrumentality. 15

Q4. TAF ITT 300 et ¥ AR W OAQl ¥AT =R —

- Each answer shall not exceed 300 words :— 50

Q. 4(a) ‘TEw faEmor AR Fw@iox fEmer & @9 [{Yes ik e ger offas e
TNGATcHS ga-eical &1 Ieqs Hmel B 7

Differentiate between ‘Lateral thinking” and ‘Vertical thinking’. How lateral thinking generates

organisational creativity ? 10+10=20
Q. 4b) wia To@ ¥ Fw diewd B 7 Hwed H ey wf-oNad ggad feE ge ghfeEd
g 7 |

What is Job Stress ? How do you assure work-life balance in an organisation ?  8+7=15
Q. 4(c) “faclio’ ¥ w1 awwd ¥ P ww o e ¥ ydue eqd aefEed iR wd frsamA
F YTEFR, 53 IR BA9T F w0 @ g7 u9Rg w3 A awd 8 ¢ e $ig |

What is ‘extinction” ? Do you think that Managers will be able to influence subordinates and

their performance by using reward, punishment and extinction ? Explain. F4+8=15
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SECTION—B

Q.5. fr=fafem wt fresmomers Rrofmd FR, ST 7w 150 west ¥ sfew ¥ ow B .
Write analytical notes on the following in not more than 150 words each :—  10x5=50

Q. 5(a) Toma arg s Fraer oy

Cost of Capital and Investment Decisions ' 10
Q.5(b) B opeufrs (RARa)_fmey o am

Financial Derivatives—Options and Futures 10
Q 5(c) Rz fuRy s gaeeemn

Management of Corporate distress and restructuring 10
Q. 5(d) IR #1 @R AR qem-feT

Segmenting and targeting the market : 10
Q. 5(e) TXT R . w2 siw g

Internet Marketing : Issues and Challenges. ‘ 10

Q. 6 T% I= 300 Wt W aftw ¥ owEr der wieg

Each answer shall not exceed 300 words :— 50

Q. 6(a) Feu-snaRT uysET @ Hefed, [er-are SR Tl udue gwhl w@ e I |

Explain the “Value drivers’ and “Key managerial processes’ relevant to value-based management.

20

Q. 6(b) Tt Taume ufax’ i ‘emygs ey aﬁmaaﬂﬁmagﬂ'gﬁ;rwﬁ?ﬁwﬁﬁﬂ
IHR wefig g 7

Explain the term ‘Margin of safety” and ‘Angle of incident’. How is jt related to break-even

analysis ? e | 8+7=15

Q 6(e) FRE P Aiodk o1 7w ot 3 7 wnive P Wt % s & R conen
ot ﬁﬂﬁ?ﬁaﬂmﬁeﬁﬁmaﬂﬁq:

What is meant by corporate financial models ? Critically analyse the conditions for the use of

corporate financial models. 7+8=15
Q.7.mmsﬁemﬁmﬁaﬁﬁmﬁq:_ _
Each answer shall not exceed 300 words :— 50

Q. 7(a) WWW@W%WMWWETHﬁWﬁW%WUWﬁ
m‘m%mﬁ%ﬂwﬁﬂmﬁmmﬂw%l '

Explain with examples, how ‘zero-based budgeting’ can be used as an effective instrument of
cost control. 20
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Q. 7(b)

Q. 7(c)

TS (IPO) & g a%m‘cﬂff il @1 Sern ‘e o & SEeT 8 | wEEEAgE
[CEEELCHIE

Raising long term funds through ‘IPO’ is better than ‘Venture Capital’. Critically analyse.
15

g W FaA qed § g sl B o7 gel fraw fofgl § s dwerm @ ow e

g ?

g g FTUYH R T 8

What is ‘present value’ of money ? Why and how this concept is applied in capital investment
decisions ? 15

Q.8. TUF IR 300 wesl ¥ Htw § FE BT =Ry —

Each answer shall not exceed 300 words :— 50
Q. 8(a) TUR a-TH FT QARFET ok $ wsw ¥ Ruvr-fiw iR owe @R

Q. 8(b)

Q. 8(c)

A-BRL—M-NHUA

Explain the marketing-mix-strategies in relation to various stages of Product Life Cycle. 15

IUYFT IETe XUl H EATCT &d §U, Wrheddrdl fauve’ @l wenewsn X wiefdar W=l
HIT |

Discuss the concept and significance of ‘Holistic marketing’, citing suitable examples. 15

ﬁmﬁmﬁwqmﬁr%%a@rﬁmw%%?waﬁmaﬁwﬁ
% IO 99U

How marketing of services differ from marketing of products ? Explain and illustrate. 20
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STION PAPER SPECIFIC INSTR NS

Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in Two Sections and printed both in HINDI and in ENGLISH.
Candidate has to attempt FIVE questions in all.

Question Nos. 1 and § are compulsory and out of the remaining. THREE are to be attempted choosing at
least ONE from each section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission certificate which must be stated clearly
on the cover of this Question-cum-Answer (QCA) booklet in the space provided. No marks will be given Jor
answers wrilten in medium other than the authorized one.

Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in chronological order. Unless struck off, attempt of a question shall
be counted even if attempted partly. Any page or portion of the page left blank in the answer book must
be clearly struck off.
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ErE—3
SECTION—A

Q. 1 Puafifem ¥ & wit woit & ver ARAY, S wdw T 150 W F B =R —
Answer all of the following in about 150 words each :— 5x10=50

Q. 1(a)

Q. 1(b)

Q. 1(c)

Q. (4

Q. l(e)

Q. 2(a)

Q. 2(b)

Q. 2(c)

Q. 3(a

O-DRN-N-OHRA

ﬁm%ﬁ%ﬁamﬁumﬁmmﬁwqwmmqmm?

Discuss how the efficiency and effectiveness of a manager would impact organisation
performance. . 10

A-GEE-TRO B T gy R 7 59 O F) IAEW TRd P gL T Al |
What is the relationship between Goal-Effort-Result 7 Explain with an example. 10
TF ILECT TRE FXQ g¢ T R wih @ fiw e AR gewdeor e
yFR =afed ® frgee # gfg w gda B 7 '

Distinguish between ‘Authority’ and ‘Power’ with an example. How can empowerment
enhance individual performance ? - 10

RewEd FRar W%W)ﬁaﬁ?ma?mmgmﬁamaﬁm
o |

Explain ‘Affirmative Action’ and its implications for organisations. 10
vaf yeus (QEedier AFX) 1 wed wRA § am fRe Rfine @enll @ ?
What characteristics would you look for in selecting an expatriate manager 7 10

aEEiE e @ Brew w7 ¥ AT deE yeeT @ s e d 8 7
What is the role of human resource management in formulating business strategy ? 15
Yufdas cgdek & weol § wedl, yeuw WA (qeder), AREREY R wEER & A9 @€y
B ET MR | -

Explain the relationship between values, perception, aniﬁudes and behaviour in context of
individual behaviour. . .20

wfeagar (mﬁﬁaﬁn)%wm%?ﬁwmﬁmmwﬁam
g 7

What is ‘Stereotyping’ ? How does it influence the decision-making procéss ? 7+8

mm(ﬁnaﬁmﬁ)%g@mw—m%?mwaﬁgﬁm
# forg wh Ieexw Yo i | L

What are key ingredients of a ‘Learning Orgamsatlon’ ? Give an example to substantiate
your answer. f 10+5

.



Q. 3(b)

Q. 3(c)

Q. 4(a)

Q. 4(b)

Q. 4(c)

e Fvw & e ger Wie Bawr e fe @ pEr wogwe sEm
Explain how ‘Job Design’ would influence ‘Quality of Work Life’ ? 15

iR 3ge A T o ¥ 2 adred 3 RieT oo s d R, gmie
weesl ¥ gETe Aged el gard

" What is ‘Situational Leadership’ ? Suggest the leadership style that is relevant for different

levels of maturity of subordinates. 10+10

HIEATERE G4 % WX idl F 0T P | T bg g e @ e A a9l
w87 '

Describe four sources of organisational stress. How does stress impact employee behaviour ?
| 10+10
A (Corporate) TR i’ (Hwmanc) #m 8 7 wiw@ @ wad ¥ Al g}
R A AFIL G FT vl |

What is Corporate Social Responsibility ? Describe two CSR initiatives taken by organisations
in the Indian context. 8+7

e iy A SeA-ueel 99 W yER @ywe o et 3 gl feur 27

How has technological advancement influenced communication and relationships amongst
organisational members ? ) 15

WE—q
SECTION—B

Q. 5 Prafafas ¥ ¥ off ywt & Iux ARA, N TAF T 150 TET A B e

Answer all of the following in about 150 words each :— 5x10=50

Q. 5(a)

Q. 5(b)

Q. 3(¢)

C-DRN-N-OHUA

Wm(%ﬁfaﬁv)ﬁﬁwmﬁgﬁrmmﬁ(mﬁv)mﬁsﬁwﬁﬁm |
Analyse the nature and scope of marketing in the digital era. 10
Profr gawet & R W A (e @) S aETe a3 dre R SR

Distinguish between ‘relevant cost’ and ‘irrelevant cost’ for decision-making purposes.
10

iﬁm’%mmm??uﬁ%ﬂwﬁﬁ?ﬁu%ﬁgm.%ﬁﬂw
g 7

What do you undérstand by ‘Capital Adequacy’ ? Why is it important for financial sector
reform ? ' , ' 10

* W



Q. Xd)

Q. 5()

Q. 6(a)

Q. 6(b)

Q. 6(c)

Q. 7(a)

Q. 7(b)

Q. 7(c)

O-DRN-N-OHUA

i dofows Rl # =9 # R dR SRy # 9 gaa fRE SEE
wfa @ we AR | |

Compare ‘leasing’ and ‘buying’ as alternative methods of financing. Explain with an
example. 10

Hodm F suR W aEwEs TRty W (T 3% Red) 1 gehad s w Ry
@1, BT T&IE X §Y, T IR |

Explain with an illustration the method of estimating required rate of return based on
CAPM. | 10

o B R S fwm # e sl w, welE dOCh-UE ST aw

T BY, T I |
Explain the differences between ‘Consumer Marketing’ and ‘Industrial Marketing’ with
one example from each. ' 1248

o FrEwT, AT AR SR YEET AT ® € sqx A e ARG 3
fFg g9 & @ B WY Hefyd g 7

Explain the difference between ‘Financial Accounting’, ‘Cost Accounting’ and ‘Management

Accounting’. How are these inter-related ? 12+8
e aRRafedl & s, et wd N A orarw 1 wfRT @ @w WX e =Ry ?
Under what conditions should a firm pay cash dividend or bonus shares ? | 10

Wmm'%wm%?wﬁqmﬁ@mw%mww

oy W R wE A fRE TR 98mE BT 2 7

What is ‘Market Research’ ? How does market research help in developing a suitable

marketing strategy for a new product ? 6+14
‘gdie (DuPont) Redwvy X 38% wewhl & & AR |
Explain “DuPont” analysis and its éomponents. 10

) ww%%ﬁﬁ%%’ﬁwﬁfﬁaﬁ%m%wﬁm

T 2, WafE TES g B d AE4 T8 YT ey e |

Why is ‘Employee Stock Option’ shown as part of equity in the balance sheet when

it does not bring in cash to the firm ? 8.

(i) TR REeR F w A e R

Explain the benefits of stock options. : 12

o
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Q. 8(a) FuT T aFd W 60 T URY =K awg A W ¥ 1000 TR A A, T bR
* R o Profe St e 2, sl am @ w70 e 9 eend awg agen wma 2
dfq F foe wewer gl ov@ FogEEAT 10 TR UR oAE @wg @) W dYer @
14 710 8, Rm freafafes @ sar ofefa e om &

GLUC L1 feoqofy
fererett T 4 yITYT F §y iew ufead
e w3 IETYE B W §0% eadt
WIS T % 2 ¥9eqe ® WU 50% uRadt
T GE Iuitad ®5 Py P g wRad 7

YT guRaT] @ g 4 €2 F AeNEIO A sawmsar S 2 1 e @ 10,000 gord)
F AMF o 2 A w75 TRd TR @ g 8 IR FRERK B IW 500 AR
F FITEE ST 8 7

(i) = aEx ¥ afths (FAfFiea) gmwm @ ety # wEweT ARE

(i) W @ T-fachy s w1 Ied@ AR, A W FAERK w1 aE W Pofg a9
Ty e s SRy

Kanchan Machine Works has received an export order for surface finishing of 1,000
castings at the rate of Rs. 60 per casting, as against Rs. 70 per casting that is normally
charged. The direct materials cost for the job is estimated to be Rs. 10 per casting. The
machine hour rate is Rs. 14, calculated as follows :

Cost Item Rate Remark
Power Rs. 4 Fully variable with output
Supplies Rs. 3 80% variable with output
Indirect labour Rs. 2 50% variable with output
General factory overhead Rs. 5 Not variable with output

Each casting requires four hours of machining. The business has an annual capacity of
10,000 castings; 75 per cent of the capacity has been utilized and the busiriess has
committed orders for 500 castings.

(i) Estimate the incremental profit or loss from the order. 14
(ii)‘ Mention two non-financial factors that the business should consider while deciding

on the order. . 6
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Q. 8(b) T &S R A TH weh T Radwn A Rew A guwhE g wden 3 (s

Q. 8(c)

G-DRN-N-OHUA , 6

o M FT J g AT

A pushcart vendor and a vegetable store vendor have identical sales and operating profit
(i.e. profit before interest and tax) :

') Wwﬁmmmgﬁﬁmﬁ%mmmﬁw
# R R |

“Us‘ing assumed numbers, calculate the degree of operating leverage for the two
businesses. , ' 10

i) T FOR F ¥ R IR W s Py ke @ e @7

- Which of the two businesses can have a higher financial leverage 7 _' 10
MY T FeAE FO B AW IOt B HEw F Awael § e @iy @ ol
o fFg yer gitm e =@med ?

How should a popular consumer product company protect its reputation or image from
scandals concerning its products ? : ' 10
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MANAGEMENT (PAPER-I)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)
There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in medium other than the authorized
one.

Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.

6-e47~(9-<3AMA&?134 1 [P.T.O.



IV' CAREERINDIA

W&—A 7/ SECTION—A

wm iso”™ 3

Answer the following questions in about 150 words each : 10x5=50
(@) ~rte IHfafr dTKNRW 3TRo) ~ell'dl % "R°T
| wi%w 3 n A fto x("o 3o 3lk N osm n
~No?

()]

Differentiate between Corporate social responsibility (CSR) and Managerial
ethics. Why adoption of CSR and ethical practices have become important in
the conduct of business in the recent times?

ATT iff (T&O m .0 3CT* T~ o)’ WU MCTT t? W AR ART <BW
% n wT» iieRdT
What is liuman resource information system (HRIS)? How can HR1S help in
effective management of Human Resource?

srfarrVv % wm %misftm tere 3 $isw %

What is blended learning? Discuss some recent innovations in training and
development with the advent of e-learning.

'vfcm toft *'nfcRT #7” % w i N ~rfm ~

What is network organization? Discuss the challenges involved in managing a
networked organization.

What is power? Discuss different sources of power.Give suitable examples.

(+«fctan) 3R THFET (Mi) W f % sfk TR% cH*
4R PRimi
Describe ‘pay for person’and ‘pay for position’ in the context of Compensation
and Reward Management. 15
Kt ? 3R~ 1? TOffcl 3MR n

What factors create and sustain an organization’s culture? How is culture

transmitted to employees? 15
frfe 3 % ~]-*n 3mra™ 1? % IRT
ari\gfi TuPCTfrd % 1%3 srte ismfad ™ 1?7 ws M tf™Mt

What are the influences of organizational constraints on decision making? Are
unethical decisions influenced more by individual decision-maker or the
organizational work environment? Explain. 20

34 2



IV' CAREERINDIA

3. @ (@ n m N snAA/n ifeft 1?
Do managers require different skills at different levels of hierarchy?
iy ~ ton I?
What is the difference between a manager and a leader? 10+10=20
(b) crm to ttK sffeMct”™ w tif? w i % N NN
How can flexible benefits motivate employees? Explain with two examples. 15
(c) ‘yfom 3TT~rai 3TTOR (~o THfo TTo) ~TT |? TFRR 3 3TTANKTIN 2 ~
What is ‘training needs assessment (TNA)? Discuss different methods for
understanding training requirements in an organization. 15
4. (@) "1 n 3N ffILWI t? TO A NMTO; (EW-M»Hd)
1? 3 3
Are leaders bom or made? Explain. What is transformational style of
leadership? Support your answer with examples. 15
(b) W R’ WU |? «M<SHcH=t W < ufi ~ | Ti 3TAm’ 37K n
What is ‘knowledge management? Differentiate between ‘single-loop learning’
and ‘double-loop learning’ drawing from organizational examples. 20
(c) N mlart f?mzi ~ddi 3
What are the qualities of an entrepreneur? Discuss the role of
entrepreneurship in organization’s success. 15
B%—B / SECTION—B
5. TO TRW\W\ 750713
Answer the following questions in about 150 words each : 10><5=50

@)

(b)

“<H<u -RTfek ~ f 31 % ~TCR 3* A~ W? fAcTT NrHMIcI™ ft

“Accounting ratios are mere guides and absolute dependence on them during
decision making can be suicidal.” Explain.

“fATO 3N -to? n AMLIT w ~1

-A vI

“Purpose of marketing is to make selling superfluous.” Critically analyze this
statement.

e-& ?fyz-(9-vam A&n 34 3 (P.T.O.



la}nHEEIIINIlIA
() “Tpator’ tor* sisfe tor, fete tor 32rm f»
y~d (370 fflo afto) 4K TO ~Rim
Define ‘money market’ and ‘capital market’. Explain primary market,
secondary market and initial public offering (IPO) market.

(d) TOR TRR (T4 3ft TOR 3/ :~ (TE
A 3fcRIM A 3 4 At <uldiRi |>?
Differentiate between ‘market skimming’ and ‘market penetration’ strategies.
When is market skimming a suitable strategy to adopt?

(e) “tN\m wra-ftvfaT 4r “~tm wra-fWcV % tffara wra-fmfai
to wm* 1?7 to NN
Differentiate between ‘marginal costing’ and ‘absorption costing’. How does
marginal costing help in decision making? Explain,

6. (@) N NRICEN “ycutfPta cfNW 3fa
tom v
Explain the concept of ‘operating leverage’, Tinancial leverage’ and ‘combined *
leverage’ with the help of suitable examples. 15
(b) TOR i\ 7RTI ftrffa ~ 3, W\ % 3, % ft’ ~
m  AAT)
“The regulation of capital market has become important.” Discuss the role of
SEBI in the context of recent reforms in the financial sector. 20
() tcRUR 3 Wn-W*\ TRL TTlte f? 3T~IfP "R A TO

What are the steps involved in conduct of marketing research? Explain with

emphasis on research design. 15
7. @@ w itm 1? Mitowdi 371 % ~rh tefR ~ %
AT 3frf) <ul'fl(ci~l 3Ft "TO A 16 <ul "SRCT

What is product life cycle? Explain the strategies which can be used to extend
the life of a product during the maturity stage. Give suitable examples. 20

(b) ~FRhHd ~ A 3R~ TO ~ 3

Discuss three approaches to working capital management. Give examples from

real-life scenario to illustrate your answer. 15
() A "1 TO
Define ‘overheads’. Explain the methods of absorption of overheads. 15

ff-04fyZ-<9-eAmA&Tfl34 4
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"w m 3K Ao~ I OTil~AfM fft TO ARft
fr 3?2wrt WWI ~ ~AM*RI ~m fi eiNRI ¥t6*R 3mm n RN

"Dividend increase sends good news about cash flows and earnings. Dividend
cuts send bad news.” Elucidate with examples. Also discuss factors affecting
dividend policy.

ton TFW sfa 3im% w M % ATFI RTO

Differentiate between direct and indirect channels of distribution. Discuss
factors that influence the choice of channels of distribution.

“ttenwi sffoii wfacT N 3 steitMt ten «t li”»

ftifa dka  dfft t

“Technology is increasingly used to process accounting data.”Explain.
Differentiate between Financial Accounting and ManagementAccounting.

20

15

15
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MANAGEMENT (PAPER-I)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be
attempted choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of quesﬁibns shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left
blank in the Question-cum-Answer Booklet must be clearly struck off,

M~ ES G- UMV 53 1 [ P.T.O.



@Us—A / SECTION—A

1. TrfaRa e 99 1 ST T 150 vsE) § ERE

. Answer the following questions in about 150 words each :

(@)

(b)

(c)

(d)

(e)

(b)

(c)

(b)

()

waree % el % feTg Tho Sseo <o % ANTGH 1 9uid HIfv |
Enumerate the contribution of F. W. Taylor for management thought.
Tered H R X qen R <y % worar e 87 Rrid <X aen R Y i = Aremand €7

Who is the propounder of Theory-‘X’ and Theory ‘Y’ in management? What are
the assumptions underlying Theory ‘X’ and Theory ‘Y’?

TereE A SR e aun ‘PR’ § e iR Tl stem % e witd auened |

Differentiate between ‘choice making’ and ‘decision making’ in management.
Explain with real-life examples.

219 YTt # WA T e g AT s e e B st iR

Discuss three Human Resource Management challenges faced in the
21st Century.

TR-sifser afgfd qun e @ § B e e o Seareshar afg & fore gemdn?
What non-monetary compensation and benefits will you devise to increase
employee productivity?

‘Teft’ ez 1 aRenia i | U whd S % STEEE TeRshT S ) aHETE |

Define the term ‘entrepreneur’. Explain the essential managerial skills for a
successful entrepreneur.

Trofem wfshan et WrraATeRe: HWpla 8 UHfer et 87 9 I 1 gfE | 3ugeh Sarew €|

How does organizational culture influence the decision-making process? Give
suitable examples to substantiate your answer.

T QR e H et o fafm et 6 e steveshar o1 geais o Y S

How will you assess the training need of different categories of employees in
a government organization?

“HaER U aeE g1 Siuredss fewefi iR |

“Behaviour is a problem.” Comment as perception.

i faverswr don Yot Sy St e e 87

How do job analysis and job evaluation enable better performance?

TUTE] T W T ST 27 SeATeehdl X U] ¥k % YN I T9E I |

What is meant by ‘quality circles’? Explain the impact of quality circles on
productivity.

M- ES C— U753 2
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15

15

20

15

20



4, (a) T TG b 1 HRO &7 FHATNET 1 TS ScqTeehd] hl H8 FHIAT FHl 27

What are the causes of work stress? How does employees’ morale affect
productivity? 113

(b) “Hiewd WA’ (WHo #fio o) Hi wHENR UH Wi w WM H W g W W TH @
TaRad |

Write a note on ‘Management by Objectives’ (MBO), bringing out its problems
and limitations. 20

(c) T T fohEll WS 1 wikesfo fafdedr 1 5 geafem s &7

How does an administrator manage cultural diversity in any organization? 15

@is—B / SECTION—B

5. Tr=fafad g U9 1 W aHT 150 vea) | S

Answer the following questions in about 150 words each : 10x5=50

(@) SETEATHS GodTw a1 = ufshan & weri %1 9l Hife)

Describe the steps in strategic evaluation and control process.

(b) ¥R I U AOuE f o e 87 FH-91 SUERA- a1 -9 39E H YRR AT
fooom W el w27

What is the role of marketing in the Internet era? Which segment of consumers
and what kind of products dominates online marketing?

(c) TRl Warush THEN TReT] SHIH T9ETEehdl H gET 1 91 il &1 dierdl Gd enaTehal
HROT ! B il |

“Finance manager is always faced with the dilemma of liquidity vs. profitability.”
Explain the concept of liquidity and profitability.

(d) HA-NENG Yeree T ®7 oA Aol (9 gEA) 9O ‘ged useuesh il
(Rl FRsTiEe THEE) e iR |

What is value-based management? Explain the ‘value drivers’ and ‘key
managerial processes’.

(e) =¥ Torz qen TH-g1 @ T B 27 SNURsd i & fagr @ €0

What are Balance Sheet and Profit and Loss Account? What are the
fundamental accounting principles?

M~ ES G~ U-cMeNT|53 3 [P.T.O.



(b)

(c)

(b)

()

(b)

()

TG @i YN 61 T8 AR | s fammn § g9 @ rgwam 87
Explain cost accounting concepts. What are its applications in budgetary
control? -

hia eIl i i faftEt @ 87 - $iud 0= 6 R/ ST 87
What are various methods of pricing strategies? What are the demerits of
cost-based pricing mechanism?

‘wu-fo=ae fowetmor’ < 77 “gan & qREn (WA S A qen we w5 i (e AT

I T oV
SIFHS"G.) ‘-NI °h| Teh 3cTelU g1 €98 <hilsiy |

What is ‘break-even analysis’? Explain with an example the terms ‘margin of
safety’ and ‘angle of incident’.

-GG S 1 27 T4 1 AN 87 R AW e © 6 R fom womeft 7 5@
YT 1 FEW A SR ST bl 87

What is ‘zero-based budgeting’? What are its applications? Do you think this
concept can be used in the Indian financial system?

Tt SRam W@ T il aRon <1 3eTetvl Hied wE i |

Explain with examples the concept of financial risk and return.

9 SF-¥ Aehl-hReh Y Adegae ¥ y=ied ¢ od foee (7sk) qen o4 (ufenfsiem) feran
AT 87 -

What are the macro-factors prevailing in the global economy that lead
to mergers and acquisitions?

A foshreTere ASHIST 1 AP A o fou faqum i fawrsi td asfi groneti &) |
A TR 1 1 GATE 8 T Hehd &7 ARTE ASHIeT TR 396 ATl Sl Faqmd |

How could Government of India devise segmentation and targeting concepts of
marketing to deliver its developmental schemes? Specify particular schemes
and their beneficiaries.

AR 6 SATUHRT o T H T W1 <hl H{HHT 1 STATHTHS T HiToH |
Critically examine the role of voluntary organizations in protecting consumers’
rights.

‘e (fRa-saig) w1 37 YNG § eamTus (feRud-seieR) % HRev ¥ 1 Hed
ECIDRIC ]

What is ‘whistle-blowing’? What steps have been taken to protect whistle-
blowers in India?

* ok A

15

15

20

15

15

20

20

15
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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section. J

The number of marks carried by a question [ part is indicated against it.
Answers must be written in the medium authorized in the Admission Certificate which must be

stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.

STH-P-MGMT 1



Qs A
SECTION A

Ql. Tr=feTRaa weeh To= &1 I T 150 reat § SfRTU ;

Answer the following questions in about 150 words each : 10x5=50

(a)

(b)

(c)

(d)

(e)

Q2. (a)

(b)

Yoo o foaR & foeeE # % & Anrerl i ek it |

Discuss the contributions of Fayol in the development of management
thought. 10

eIVl (TEWH) 6T HehoodT I Il HIT Td 37 HHH H 9q2y S
=k o WAl UshH & HreY W@ B |

Explain the concept of Perception and state the factors which have a
bearing on the perceptual process of an individual. 10

IMYFF T AERE TS H HUERT TR % uig chi o sqwE
Hife |

Explain five ways of employee empowerment in modern smart
governmental organisations. 10

Tl @ et aeenl @ Sfed sgEw o gu smifew (wfR=m) w
TR (FEHIHYHS ) cd Afert i faa=mr hifd |

Discuss contingent and transformational leadership styles with suitable
examples from government and private sectors. 10

SF A FM1 B ? TR FHANE F 80T F [, IeAEHaT, I,
Afth Slaeore U geerstt ¥ w1 ey R ? W oneid SeHt % wed
ST Y | |

What is Job Satisfaction ? What is its relationship with employees’

intention to stay, productivity, absenteeism, turnover and accidents ?
Answer in the context of Knowledge Based Organisations. 10

R (do) @ R B | sicodaRes it siadafe da
HH-HH F § 2 TR GHIUE S TR S Tehar 2 2 I A |

Define Conflict. What are Intrapersonal and Interpersonal conflicts ?
How can these be resolved ? Give examples. 20

WA U9 qa=R % i w= gy R 2 e Ter % TeEi w5 e
i |

What is the relationship between entrepreneurship and innovation ?
Discuss different types of innovations. 15

STH-P-MGMT 2




(c)

Q3. (a)
(b)
(c)
Q4. (a)

(b)

(c)

HISATCH STaE Sgfawefl Toed 1 g1 3 | 3 ge, T wfed 10 W@ fervai
¥ A Sarse f SedTeT SFagR sF A A fEn B | e foav %
fore ok Sergan e |

Organisational Behaviour is of multidisciplinary nature. Name
10 disciplines including emerging disciplines which contributed to make
organisational behaviour. Give one example for each of the disciplines.

AR w0 R ? T G # FHATE B ARERG W H AGedl h Ao
ORI 1 8 SEAHTA fohaT ST Tehal & 2 SUTEAT Shilvg |

What is Motivation ? How can Maslow’s Hierarchy theory be used to
motivate employees in an organisation ? Explain.

15

15

e fNfEh grr sfkeued THL L3R UE. % U] 3R higas AehiieH
(aRrgfy srareen) 1 e FRm | @ aftfa Aftior iR A der

3 79/ i |

Explain the components of the technology enabled HRIS and feedback
mechanism in an organisation. Do they lead to increased motivation and
morale ? Substantiate. ' |

TTSTeRs Ty | o1 % GHTeT GId Td YR TR 8 ? 379 by Huer S
AT B ?

What are the potential sources and consequences of stress in the
organisational context ? How can we deal with them ?

SraeThE 3t Menfich afadal & ey d v gamae fFrism 6 gAfai
1 = hifv |

Explain the challenges of Human Resource Planning in the context of
demographic and technological changes.

“FRIETE TS T THAE Iawarred, faftes gf= & fiax, 1 arfaest & feai
#T A FET BT & N BREH FSAT W AHINS ST Ta) dlg S
Thd & |7 T 3T 39 U U WEHd & ? TR HINT |

“A business organisation’s sole responsibility is to further the interest of
its owners within the boundaries of legal framework and business

organisations cannot be charged with social responsibilities.” Do you
agree with the statement ? Explain.

TS TERIA F1 3 2 TS HERI Bl HH SHIET ST Hehell 8 ? SATEHAT hIT |

What is organisational culture ? How can organisational culture be
built ? Explain.

STH-P-MGMT 3
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SECTION B

Q5. TrefeRaa uede gem 1 3w o 150 wrsat ® v

Answer the following questions in about 150 words each :

(a)

(b)

(c)

(d)

(e)

Q6. (a)

(b)

SiTe AnT-Huier 3R wsRe ara-Fetor s aftifte Hife | S area-Rtor
Tera-fort aTal & wspm mra-frator & i R 9

Define Job Costing and Process Costing. In what ways is Job Costing
different from Process Costing ?

fercfiar fooferl # yerem Srameter % wew ) THEEy |

Explain the importance of Management Accounting in financial
decisions.

“eproft <t weperar g doft e o sl st 2 17 vl Hifv |

“The success of a company depends on its well-planned -capital

structure.” Examine.

TR e % freraT uiee 1 e fif | 39 Thet I &% Feieer §
I8 Hisd fhd YR U= & ?

Explain the Miller-Orr model of cash management. How is this model
helpful in determination of appropriate cash balance ?

IR G G Td yaifadt % Wi uh wWsiar ® | 5§ wed @
GHTATEHTCe HeTehd ShiTg |

Market segmentation is a compromise between efficiency and
effectiveness. Critically evaluate this statement.

A NG 3R AHs arma-fuftor =) afenfig Hivm | o ara-Rgko
arTd W garelt frEer # frg R 3w g & 2

Define Standard Cost and Standard Costing. How is Standard Costing
useful in the effective control over the cost ?

M faovE afew § ores grwr (Revm) o1 wewel @ 2 o @n a9
TTEehi sl YR A % T 19T S wert arreft iRl 1 e Hifv |

Why is customer retention important in the current marketing
environment ? Explain the strategies that could be adopted to retain
customers for a long period of time.

STH-P-MGMT 4
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(c)

7. (a)

(b)

.(c)

8. (a)

(b)

(c)

FEiEie $oft i T=TeR = dehedT i STE HIfY | wRivhd gt b ey
T T sk T & TSI R YR HE™eh Bial & ? WHSsy |

Explain the operating cycle concept of working capital. How is a close
study of operating cycle helpful in the management of working capital ?
Explain.

“Sfaadt ot wd wfaenita ot rTa-Afed ISl e d 8 |7 T 9 3 R
Y wgad @ ?yﬁwﬁﬁaﬁﬁﬁm#ﬁfvﬁﬁmﬁm|

“Equity capital and Retained earnings provide cost-free capital.” Do you
agree with this statement ? Explain the methods for determining their
costs.

v 4 fif s gfenfya S | e siftree S8 TR Star 8 2 3
& Tl gHEET |

Define funds from operations. How is it computed ? Explain with
example.

o fufor (i) susice % aftass # fren SiTar 8 3R A b 3edrg 6 |
Tt SR & g o gaeh!l yrafiehar i s Hifg |

Positioning is done in the consumer’s mind and not of product. Explain
its relevance in the context of a competitive market.

T sr@iell it Rl dwErell % e gEe e wfid % S FE SSH
BT R 2 e el ofit el emedl % i ST % HRUT i TR HIN |
What is the purpose of reconciling Cost and Financial Accounts ?
Explain the causes of difference between costing profits and financial
profits.

SsieR Eier fioly o So-fem =& oar @ | Savier Foke e o fafts
= Y ST iU |

" The consumer does not take buying decisions randomly. Explain the

various steps of the consumer decision-making process.

RS T VY ST % THH & S & dH HIE HAl & | Th AR Ig AlgH
# gfg w ¥ @ gEdl o faw W uftefstr i gfg Fd 1 Th FaE qGH
AT 2 |7 59 FHYA 1 SAEHTHS T Hifr |

“Leverage serves as a tool which cuts both ways. On one hand it
increases the risk and on the other it provides an opportunity to increase
return on investment.” Critically examine this statement.

STH-P-MGMT 5
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IgE wE-HE-I (FLH.C) T F 3E-E W AR e w G iR | o anew & s 5
ot araw § fors g I W AIE S T e |

vl ¥ wre i, TR GEEE &, W S G e e |

I I & awe7 4 I amee auE, smen-aw 3T seE vve 'Y & 39w i

W & IO @ T FGEN # A | aiE w8 B, 8 5T % 3 #1 awar & el if aw I Swa: igar aa
7 | SV-HE-F G ¥ G SIET FAT P A7 S W ) ore &9 8 sy a6 Snay

Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE guestions in all.

Questions no. 1 and § are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE guestion from each section.

The number of marks carried by a gquestion [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be

stated elearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one,

Word limit in questions, wherever specified, should be adhered to.

Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
ghall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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SECTION A

Q1. TrerTerfias woat # & wedres = o wTHA 150 yrsEl | St

Answer the following questions in about 150 words each :

(a)

(b)

(ch

(d)

ie)

‘srawEaEl, ‘swmEl’ o St & b sem we i s A e
faor % T amifires fag # 2 =+ faavme emevadand srow =@ # 7
Explain the difference between ‘needs’, ‘wants’' and ‘demands’. Which

one of these is the starting point for marketing 7 Do marketers create
needs 7

“FgAt geart w1, HUW Ik g a% Avl e @ em,” a8 awen e
g wemae srfuferam % o St aufE s 2 7
Ty Teheue wfaerd fauwue afigye # e smo a6 39w T8 2 2

The statement “build a better mousetrap, the world will beat a path to
their door”™ communicates the essence of which marketing management
orientation ?

Why is this concept not the right approach in a competitive marketing
scenario ?

=g fvoees o F o aaw & oy wEw w9 E, B 3 ooft ameladen
W AR A8 o Hhd B | #Wa: o Wi I90H th A TEHE S9FH
A B | FREEE wAEE 9iEw # = 24 39 § S At aaEh 3
sit =41 9

Smart marketers approach market with an understanding that they
cannot appeal to all customers/buyers. Therefore they adopt the ‘rifle’
approach instead of the ‘shotgun’ approach. Which of the two approaches
is more effective in the contemporary business environment and why ?

qHE qEE (vE. ) wigw 5 gftafie i | oee g gitem & o
smiE fafim vgfat =1 av Hifig |

Define Human Hesource (HR) Audit. Describe the various practices
followed for HRE Audit.

qreiar’, e oft ‘Sewdl & e R 7 St 1 vl o sl
I Gy I o Hifaw |

What is meant by ‘vision’, ‘mission’ and ‘objectives’ 7 Briefly explain the
nature and characteristics of ohjectives.

EGT-P-MGMT 2
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Q2. (a)
(b)
(c)
(d)
Q3. (a)
(b)

SRR & fagidt 6 sen déw #§ S | AE sk swifE R ®
fafim wom Fwn 8 2 swifes wfowal = 3w & & o 9 2w
g2

Briefly explain the theories of compensation. What are the different

types of monetary and non-monetary rewards ? What are the merits and
demerits of using non-monetary rewards 7

s v W e @ feg efidfe +@ =1 % ot d 2 ) s

w1 fagr w=om i sifaus s W Anafa # | e il B d@ne
Rifim = w wlafa = wfinfs =0 % v, @ fag= =1 3@ &y
R TR = T B |

Motivation is a simple process but the task of motivating is daunting,
Herzberg's theory is based on hygiene and motivator factors. Explain
how this theory can be used to motivate emplovees at different levels of

an organisation.

T o aan we famm wEt F Tadee $itae | e wn ST
%1 faferm werl % 3eme wur=non & w2 # 2

Differentiate between line extension and brand extension strategy, Why
do organisations proliferate markets with different types of product
variations ?

It qfmetEl % fefrm oo fBfy o wo 8, 2 m R F s i
(weRtam) =t =aTE Hifw | TeTe O AR 9ot O3 & uew woe s En
g2

Explain the economic rationale behind leasing as a mode of financing

capital assets. What are the differences between an operating lease and
a capital lease ?

‘it o wey’ & dw wemg i syem fifw | v gg T g
CTEA] o Wi e I | a4 o wE W S a9 U9E Bid # 7

15

15

10

10

Explain the relationship between ‘role’ and ‘goal’. Differentiate between

role conflict and role ambiguity. What effects do these have on the
working of the organisation ?

Aged we § e Rl sl & wee w sewe e § 7 e
#if B e w1 o187 F I=W W W GEedAeas Ao wive Aluw
TEvEqUl B WiH & I dehATehl Sive] i e %A B o 8 |

‘What are the different types of skills leaders use in leading ? Discuss the

reasons why conceptual leadership skills become more important and
technical skills go down in importance, at higher levels of organisation.

EGT-P-MGMT 3
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(c)  wiqeTEd ez famvm & et 8, ww wew wifem € . wEER @ s (B20),
FER ¥ FEN (BZB), Wa® H I5F (C20) 31 ues d FnEn (C2B) |
FETEITIT I WEEAT § ] =nE) hifay |
In the context of Online Internet Marketing, four types are
distinguished : Businezs to Consumer (B2C), Business to Business
{B2B), Consumer to Consumer (C2C) and Consumer to Business (C2B).
Explain these with the help of examples. 10

(d) TergET % Hfm qEe WO =W (i) siea @ o T T g
g (dt..A.) F ooy Sy gwize, §9
(i)  Yed g @ E, 3l
(i) WFAHETRE |
= $ifaw R oo gea-fafo =7y & e &% go sm = e owen
S e W g R
Contrast the effect of FIFO versus (weighted) average cost on ending
value of inventory and pre-tax income (PBET), when
(i)  Prices are rising, and
(i}  Prices are falling.
Exzplain how income can be manipulated by the choice of inventory
valuation method. 10

Q4. (a) TiE i fF sl v wen i wEEm @ oo @i e wwn s
F & | fawom wirm frew & SR 9 A= ¥ 0
Explain how do marketing communications work with the help of basic

communication process,. What are the elements of marketing
communication mix ? 15

(b) & ity wmdwme 3 famn @ B “enEn w1 us il FEw v gt
i # — wEYET F I T SN S AR Fgil w9
FwET # ot ... | e i W IweEr B9 % o s w aed
¥ T % Tead § §9 A o WA raeah qeain $hita |
A famous economist wrote that “there is one and only one social
responsibility of business — to use resources and engage in activities
designed to increase its profits...”, Critically evaluate this statement in
the context of increasing pressure on business to be socially responsible. 15

EGT-P-MGMT 4



(¢) vEuEhE e w v o FEgTeE % 8 weEet & g Ffanita
fopn o1 WA & | w1 I HEGHEGE Gl &S e 9 yEus e 8
AT & 7 =T S, w1
Managerial performance can be judged/measured by two parameters of
effectiveness and efficiency. Can an organisation or manager with high
efficiency fail ? Explain why. 10

(d) UH AEE o T % g (i) ST wmam 8 7 e uE
ufdge wra (3 ) fremet & e e Hif )

What are the primary uses of a standard cost system ? Distinguish
between favourable and unfavourable cost (and revenue) variances. 10

EGT-P-MGMT 5



=R
SECTION B

Q5. F=fafiae w8 @ oo w1 3w e 150 veEi & S

Answer the following questions in about 150 words each :

(a)

(b}

ic)

Terefram <t Wfeem st iy =rn @ 2 gaeft g 46 T < Yeais fagd
o Hifa |

What is the pecking order theory of financing ? Compare it with the
trade-off theory of capital structure.

w8 Hdl i T G F o T wEy B 2 7 9 W i Woatey
(a8 f1.um. ) @ uiser fem wam fen s 2 9 femeew &), 0
ai-ai aa diftem wi=si =1 wfrarfes Fife |

What is the relationship between bond prices and interest rate ? How

does one caleulate yield to maturity (YTM) on a bond ? Define discount
bonds, zero coupon bends and premium bonds.

TR mmiftE B odiw itz s s e R a9 5
I (FRT FY) T 200 FE FAR qw 49 @ d T 100 FOE W
wra gHE | o 3 1z oft spfew fen 6wl = fed s $fed (ROE)
20% ® | 48 "Hd g0 fF v wdt enviw amEEell sue wdg am w@ft,
Feafafan vt % I df

(i) wHRFAEEIgTETR?
(i)  =7Tet 94 =t SurE == oEnh 2
(iii) 37T 59 =R STHTN F47 BT 7

tiv) 4R =R vetog, fafiee 6 fed o ofef o (e 6 oam)
15% =@ 8, @ vdtom, fofies & aom gew (am dftemn) =
A F 8 ?

The India Times reported yesterday that ABS Ltd. earned (profit after

tax) T 200 crore during the year ending yesterday and paid out a

dividend of ¥ 100 crore during the same period. The report also

mentioned that the firm's return on equity (ROE) is 20%. Answer the

following questions assuming that the firm will maintain the same

dividend payout ratio forever :

(i) ~ What is the firm's earnings growth rate ?

(ii)  What will next year’s earnings be ?

(iii) What will next vear's dividend be 7

{ivi What is the estimate of market value (market capitalization) of
ABS Ltd., if market considers 15% as the required rate of return
on equity (cost of equity) of ABS Litd ?

EGT-P-MGMT 6
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(@) @y fofite & wafue Fefafes s = 9w@m w6 5 T v
fommn am =79 i vy fafy vE s fafy & sren Fifaw

Explain direct method and indirect method of preparing statement of
cash flows using the following information pertaining to Ajay Ltd :
Statement of Profit and Loss for the vear ended 31/03/2017

EGT-P-MGMT

EﬂﬂﬂfﬂﬂlTﬁmgqﬂiﬂﬂ ea-gr faaa

fawa T 90,00,000
Wi 7 kg i w £0,00,000
4 =Y 1,50,000
BT = 50,000
T GH TATH 8,00,000
A =Y 3,00,000
e T 5,00,000
Hag geTe e

31/03/2017 | 31/03/2016
LGl 50,000 70,000
T 90,000 60,000
g e 80,000 70,000
T A 15,000 20,000

Sales Revenue 90,000,000
Cost of Goods Sold 80,00,000
Other Expenses 1.50,000
Depreciation Expenses 50,000
Profit Before Tax 8,00,000
Income Tax Expense 3,00,000
Net Profit 5,00,000
Relevant Balance Sheet Accounts

31/03/2017 | 31/03/2016
Inventory 50,000 70,000
Accounts Receivable 90,000 60,000
Accounts Payable 80,000 70,000
Income Tax Pa;rahle 15,000 20,000

7

10



(e)

Q6. (a)

(b)

{c)

(d)

=1 Fav 2 & e & o ofed srefuio s s fuio &
e s sugrht seemt e SO 3 2 Swnen afe ¥ fasea ofe g
fam 29 &1 T 3 sEvimw a9 gfEd s 6 e gy @ # 2
U FrEl % ufed B4 % 9w ?

Why does variable costing provide more useful information than
absorption costing for decision-making ? What are the income
relationships between absorption and variable costing when production
volume differs from sales volume ? What causes these relationships to

oCour ¢

TIPS % HIEN OEHEl % AWUE SScAE ogari o el i =men

FH g THE wiEpfas wiheee s 7 e e aeste sagee
wErEgul # 7 I9Y ISTEI o HRTHAT § TIE Hhifau |

What are the major cultural characteristics which explain differences in
organisational behaviour across cultures according to Hofstede ? Why is
cultural adaptation important ? Illustrate with the help of suitable
examples.

qal e = e w1 f Fae e gy () By aw
‘At wiEfEy =0 (o amam.) fafl < gemn ifew | s 291 Tafmi 6 @
HAH dwe & o 7497 7

Compare ‘Net Present Value’ (NPV) method and ‘Internal Rate of
Return’ (TRR) method of evaluating eapital investments. Which of the
two methods is superior and why ?

“F& g% ST 7 uE we 7 wE v §, v e Swbei aftefiat
" 2 @ 17 59 S # s A v fagersen, fawme siesi @
e Hage favemsl % wed 4 $ifan | arm doge (vm.am,) favees &
Y T4 HHE waree ol aEm e s asa € 2

*When managers act on better logic and evidence, their companies will
trump the competition.” Critically analyse this statement in the context
of analytics, big data and HR analytics. What HR decisions can be made
better with HR analytics 7

we fapremas w7 B @ 7 aifemiEETE we wme we faenw & fifew i
& | Sftawa g 1 3w g s Hif |

What is goal displacement 7 Bureaucratic organisations often suffer
from goal displacement. Explain using live examples.

EGT-P-MGMT 8
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Q7.

(&)

(b)

(c)

(d)

ferangl % a1 3 3% Fwoi it s fifan | e faae af gemm A
S, @1 & s ey T & o fafe w9 E v G 2 | R w) gen
% fafay it =t w2 Hifam |

Explain the meaning of disputes and causes thereof. Industrial disputes,

if not resolved create dissatisfaction which finds expression in different
ways. Explain the various ways of settling disputes.

g wfafeEt w5 fwTE S %1 991 I BT & 7 eiETR ey ¥ o
et S % o e A f

(i)  He9s™ =19

(i) & wrea TivE & o wd g vEe |

(iii) EFHE W W G ==

(iv) =T Freg T g o R

dw sfAfen Al & fau goeifae sfafedt =1 s fiftm | 2R €
TS I (1) (iv) FEmEita wfafeE & et = ofm 59 4§ swee v
&, o T 7 'l fE 9 GeEeE WoF s 92T ?

What is the purpose of recording adjusting entries ? Some of the items
for which adjusting entries are made at the end of the accounting period
are :

(i) Depreciation expenses

(ii)  Services provided by the firm for amounts received earlier

(iii) Interest payable on loan outstanding

(iv) Rents due but not paid

State the adjusting entries for the above implicit transactions. If an
organisation fails to pass adjusting entries for items (i) to (iv} above,

what will be the impact on ‘Statement of Profit and Loss' and on
‘Balance Sheet’?

9t wi HEA wEH 3 8 9 S o deas wea # ) F o
Al & o man # 2w 7

Two of the emerging organisation structures are virtual and network
organisations. Are these threats to conventional organizsations ? Why ?

T GWA W afiw Tafy ww w0 % T e sifies Seedl, weeawt
Fafidt 6 FavEem & ? 39 @ s S et W g s $ifa

Does India need more leaders, managers or entrepreneurs for achieving
economic growth ? Explain, highlighting their differences.

EGT-P-MGMT 9
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Q8. (a) FE HHAEN! TEEy N GEiERon H Heewnt fim # 7 wd=l gukeem 5
w41 =9 B 8 7

Are the concepts of employee engagement and empowerment different 7
What are the benefits of employee empowerment ? 15

(b) famvm # sigEum w1 w7 g R 7 e ofifee B v ol v agEuE
AT HET TeAl 8, 9 35 e IuE fee wee § F e f g g 7
=0y =7 = it |

What is the importance of research in marketing ? Suppose a company
wants to undertake a research study, what process is it likely to

undergo ? Explain the steps. 15
(c) wigm wie fafide & PrafEfee 6 e g
ferefiem % wam e 1 o S I e

8% amfEd-g s (v EL) 5,00,000 | 5,00,000

7-5% wetE (At s Ot 12,00,000 | 10,00,000
sfaadt = Ot 8,00,000 | 10,00,000
T 25,00,000 | 25,00,000

Ige ufes s 40% =% =es § & | Aifenafte ofef @ 8% 3k
srfera arem wifien diftem 7% 2 | wga afem fofeee & s & 100
2 | g afe fofiRe & fom 46ft 6 wifta siea wrm w1 oftewea Fif |

Atul Mahindra Ltd. has the following capital structure :

Type of Financing Book Value | Market Value
8% Non-Convertible
00,0 5,00,000
Debentures (NCD) 500,000 ”
7-5% Preference Share Capital 12,00,000 10,00,000
Equity Share Capital 8,00,000 10,00,000
Total 25,00,000 25,00,000

Atul Mahindra Ltd. is in the 40% tax bracket. The risk-free rate of
return is 8% and the expected market risk premium is 7%. The equity

beta of Atul Mahindra Ltd. is 1-00. Calculate the weighted average cost
of capital for Atul Mahindra Ltd. 10

EGT-P-MGMT 10



(d) “nfefafy smafe wmea (o) ggfal @29 ool o 9gfa 3
wfees gurd Bt § |7 29 wEAd § 7 nialaty i e vee e e
ey e § HOR w8 7
“Activity Based Costing (ABC) systems are always more accurate than
traditional costing systems.” Do you agree 7 How does ABC improve
overhead assignments ?

EGT-P-MGMT : 11
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MANAGEMENT (PAPER-])

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be
attempted choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.

Assume suitable data, if considered necessary, and indicate the same clearly.
Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a

question shall be counted even if attempted partly. Any page or portion of the page left
blank in the Question-cum-Answer Booklet must be clearly struck off.
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WUE—A |/ SECTION—A

1. f=fafea 4 8 va@s &1 amm 150 vt & 3w 4w
Answer the following in about 150 words each : 10x5=50

(a) ‘T8 GOR H Fad TH € A e R, 98 § aftEda )’ 39 awey W vl fifsg) smoeht wg A
T GO |13 g AT HewEqUl #1 —ided eE iada?
“There is only one thing permanent in this world, i.e., change.” Comment on

this statement. In your opinion, what is more important for a government
organization—stability or change?

(b) wEEH srftEmEt #§ rfteiw fReht siftrm qun fam Fafe & St 1 o @ | sEwa g
| fafir gama dfg @ifen fesht wiemr & fafeim w yem # gur frn st as)
Most of the government officers fail to serve the purpose of overseas learning

and development assignments. Suggest different interventions which can
improve the return on investment on overseas training.

(¢ (i) ¥ af TER F TG G E? A IW N T §9 § T2 iR
(i) T N FEE A F A a7 e i faaem fifsg)
(i) Whether all types of stress are bad? Justify your answer. 5

(ii) Discuss the role of Yoga and Meditation in managing stress.

(d) iites gmed, s, 9fe @ e R ¥ aAfife g @ s 3 @ e g,
o1 et oft anefi 3 waiftes Aih St 81 el qon s=m 6 39 a6 9 A S E
fordryanai, eanfean aun sterdar, it SR ¥ AR ST 8

Apart from physical ability, language, intelligence and emotional stability,
honesty and integrity are the two most sought after characteristics required in
any candidate. Describe the techniques followed in Recruitment and Selection
to check these two characteristics of honesty and integrity.

(e) ‘‘va ¥ WAl I HaER i e dgifas iy ®17 w0 219 39 Shed | wEHd &7
A I ! 3 e ¥ Fela i

“In India, social responsibility is more in theory than in practice.” Do you agree
with this statement? Support your answer with suitable examples.

2. (a) WHES GEEA (THo 3IRo) WUl Hl T it iFi o T ¥ =S @ A I 8| AHS
HETA a1 TG (THo 3o 373o Tho) FHH T A6 ¥| HAY § Tdo 3ARo 3o THo Hi
fad=m ifvtg | ama GaA EvEid Afde s wae e R T ([sreE) B e § @, S
T 134 H HIAG HEIGAT i IRfas TR TEH H b

New generation Human Resource (HR) managers are well-versed with numbers
and technology. Human Resource Information System (HRIS) is one example of
it. Briefly discuss HRIS. What attributes will you consider while framing an HR
dashboard metrics, which can give a realistic picture of Human Resources in
an organization? 15

SDF-U-MGMT/9 2



(b)

(c)

(d)

(b)

()

(@)

T B H TEY § ArRE R YR e % e weu R @ fim 37 @ S g
wicatied ¥ yay frgra o ff @] A # we sy wed Ry §7 s Iw o
Hfea firg #Hifem)

In what respect is Henri Fayol’s contribution to management different from
that of Taylor’s Scientific Management theory? Do the general management

principles given by Fayol still hold good and are they relevant to the modern
organizations? Justify your answer.

ST TS F1 7 Th TS Ta AT TSHAIHS Hepfd 8 G Il Hl FR@T Teqd
ifsg | Ter-we wfoefan # faemm w % foe @ren 6 78 A grEar w27

What is a learning organization? Outline the prerequisites for a creative and
innovative organizational culture. How does it help the organization to survive
in cut-throat competition?

T G FHAR 6 e # e B oW gea 87 360-faft fraea g fafy
foamm ifsre| grarea wftean i sansh 1 3 | W T &7
How can the performance of a government employee be appraised? Discuss

360-degree performance appraisal method. How can the barriers in the
appraisal process be removed?

I U@ HAR qEAT (350 Hio Fo) & WA & WY Yy F wft Fraferes get # geq aReda
3311 38wl H o7l <% § WHE HEER TEY (THe ARo THo) & I wiywpa gl Hi
foa=m Hifs |

With the advent of Information and Communication Technology (ICT), there
has been a sea-change in all the functional areas of Management. In this
context, discuss the future challenges of Human Resource Management (HRM)
area in the next decade.

“qui faehesiieo 3t weER uftefoid @ SR T ool i) faeeen Rifsig) feseier 6 Aoft
= I A 9T 921 Y = Hifg

“Absolute decentralization is as hypothetical as absolute centralization.”
Discuss. Explain the factors which affect the degree of decentralization.

‘o =@ S ¢ 5 g w@ it -fadia wmea e dran 1" w19 wewa €7 o9 IW Rq
0] S | TRt |Te | E1 T TSI 6l I S e 3 ehRers ®9 8 6 e S
a1 &7

“It is said that an organization devoid of power and politics is lifeless.” Do you
agree? Give reasons for your answer. How can power and politics in an
organization be positively moulded for better performance?

s feemgd & wiafda, qa-ufafda @ refSma surmt § s we fifvm) s fa=m
o -1 397H 498 87 17

Distinguish among Classical, Neo-classical and Contingency approaches to
Organizational Design. Which approach in your opinion is the best? Why?

15

10

10

10

15

15

10
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4. (o) ‘‘shyErie we % Ra § srigERe e e #17 @ wuR W feof A B ol |
TEYE ST TSA] I 39 @I ¥ A I T R 87
“Informal organizations are detrimental to the interest of formal organizations.”

Comment on this statement. In what ways can managers make most effective
use of informal organizations to their advantage? 15

(b) A TAEE A A9 F G 87 38 TR TR e S gk 87 38 Gel # Tl wresen
&7 % 35 (Fro THo Fo) 1 ITEW AT
What do you understand by employee morale? How can it be boosted? In this
context, give example of a Public Sector Undertaking (PSU). 15

(c) ‘‘wafhea &7, AR qaR ) Sfd F &) w0 A wEwa €7 3 I g Fww i
o Jugeh Jarew oft e

“Personality factors influence individual behaviour.” Do you agree? Give
reasons for your answer and also give suitable examples. 10

(d) w1 T EEE & van % wein Rgra §, S wEe wedl ad yEye A ghad F gwfad
FA §7 I9Yh IETEWIT Agd 9 IR F g Ffr |

Do you think that there are universal principles of management that affect the
success of all organizations and managers? Support your answer with suitable
examples. 10

@Uvs—B / SECTION—B

5. frfaflas § & yeeh %1 @R 150 = 7 I AR
Answer the following in about 150 words each : 10x5=50

(@) wham Hif 75 ¥ ge wE FER awAE (5o Ho Fo) I e fadum wfEA T Al %
- I9ER 1 T 93¢ RAT & | 3G JaTEW! I TEEA § I IW H w9 Hif
Examine as to how Information and Communication Technology (ICT) has

transformed the traditional marketing processes and buyers’ purchase
behaviour. Justify your answer with the help of suitable illustrations.

(b) ‘G SO FAEEH SrErR ges % ne e e Rk e e @ 3
Fft-Fft w B v 217 Iug IeTEil Wigd 7@ awe F Fee il
“Accounting ratios are mere mathematical relationships expressed between

interconnected accounting figures and at times may be misleading.” Elucidate
the statement with suitable examples.

(¢ TR w ¥ vl aral a @l ga § amen S =R w1 aftma woae
=pan T fuffa T $R-3E @ 7 87
Explain briefly the costs and benefits associated with holding inventory. What

are the considerations determining the maximum level and minimum level of
inventory?

SDF-U-MGMT/9 4



(@)

(e)

(b)

(c)

Wi qu whrw @ra-Rufo (FfEn) § 9 e 7 @ B o saee, =@ o
wrra-Frafoo faftat wam 6 s £

Distinguish between Job and Process costing. Also state the industries, where
the above costing methods are used.

‘e’ @ ‘ewe WHIG # s Aifg ) 3 faoom ot @ sogw sereen | wE #if,
N dien’ "W TFe’ WEIT 9 ¥ fRvredl % Fofa 6 wifaa s 8
Distinguish between ‘pull’ and ‘push’ strategies. Explain the marketing
situations with suitable illustrations that influence a marketer’s decision to
adopt ‘pull’ vs. ‘push’ strategy.

fova gu 3amea # 21% A oft it e & w1y wwa fave & gy w1 @@ 991 3RS B R
A sraigig IR # gae e e R sl a9 #§ wRa % 39 IemEl & fog e
TATTH 3G T AT a9 MY ASH1 IR Hife )

India is the largest producer of milk in the world accounting for over 21% share
in global milk production. However, its share in the international market
remains negligible. Prepare a comprehensive Market Research Plan to explore
potential for India’s dairy products in the international markets.

A eEEga d AR -ier dimer B wmen e 3 dwaet w o sdf
TS GOE HIR, N THEg IR H 1Y A §

Explain the Modigliani-Miller hypothesis of dividend irrelevance. Also critically
examine the assumptions underlying the irrelevant hypothesis.

e ffo ) =19 @ WA @ A 3@ (o o 3mge AHo) ¥5,00,000 B FTAR H FH W

12% 3G @Fd, K,; W € 20,00,000 ®1 37ed #0121 §fd §oh R @rm, K, 18%

g R

(i) RFATER TR 1 TENT HA Y FH I aqaH qed i i)

(@) w4 < wmm G ®, K, Faifa S

(i) %4 € 10,00,000 H Tt &1 i 0 1 fmm = @ ® @f% € 10,00,000 F O
1 Hreq R <1 || FO 6 @ stwwTied e o emm R foes # F % e
w4 1 Rt Gt A A 16% % el

1 AT TG FEH Y ST FHA?

Mohan Ltd. has earnings before interest and taxes (EBIT) of ¥ 5,00,000. The
firm currently has an outstanding debt of ¥ 20,00,000 at an average cost, K4 of
12%. Its cost of equity capital, K, is estimated to be 18%.

i Determine the current value of the firm using the traditional approach.

(i) Determine the firm’s overall capitalization rate, K.

(i) The firm is considering to issue the capital of ¥ 10,00,000 in order to
redeem ¥ 10,00,000 debt. The cost of debt is expected to be unaffected.
However, the firm’s cost of equity capital is to be reduced to 16% as a
result of decrease in leverage.

Would you recommend the proposed action?

15

15

20
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(a)

(b)

(c)

() 4, I, @ e st i A off e o asem wost w5 gen e s 2 T
fafirfia 3omm # ¥g Sas wifven wHifEt $i s fifsm)

(i) ‘Fwe $fEwd’ uE FvE veEH ¥ =R Hifg)
(i) Creating differentiation even in commodities such as milk, water, edible

oil, etc., lead to creation of strong brands. Explain alternate branding
strategies employed to create such differentiation.

(i) Differentiate between ‘brand equity’ and ‘brand identity’.

Isfi afEafy geom Ated (Ho Yo dio wHo) w1 R FHA 1y WA F1 §7 Ioft AR Y@
(o WHo Telo) TT Wifd IR 1@ (THo TWHo TeAo) H AT & 1= HIN?
What is Capital Asset Pricing Model (CAPM)? What are its underlying

assumptions? How will you distinguish between Capital Market Line (CML) and
Security Market Line (SML)?

3 yfeartt gea fapm A 3t B -3 ¥ faae f&m ) 991 wm amaR Y fafedn w
HiFR T@d &, 99 ¥4 @ € 1,250 BRa gen € @ R I ¥ WEEE o9 9ged B
farm B ga # A A R T e i T @ v BR A f o g R o= we
faifepa & -

fagar A fasar B
fasg ¥ 8,000 ¥ 4,500
fagbla ag # @ o3 #1 50% fsma 1 50%
7l #2250 F 750
a9 fFafafaa ye % 33 df

(i) =amEn i F fassa A, fsha B R @ T anEEs R

(i) FH=TEl ) FE I A R R g 3@ 3w ¥ fasea B A foran fase sgmn @,
3R B %I 3f=sq uiemer ™ € 350 &7

Two competing retail vendors A and B are located adjacent to each other. Both
occupied buildings of the same size, paid the same rent, i.e., ¥ 1,250 and
charged similar prices for their products. Vendor A employed three times as
many employees as B and has twice as much income as B. Other data are as
follows :

Vendor A Vendor B
Sales ¥ 8,000 ¥ 4,500
Cost of Goods Sold 50% of sales 50% of sales
Wages ¥ 2,250 ¥ 750

You are required to answer the following questions :
(ij Explain why vendor A is twice as profitable as vendor B.

(i) By how much vendor B’s sales have to be increased in order to justify the
doubling of the number of employees at the same rate of pay, if B’s desired
operating income is ¥ 3507
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(@) ¥ Tor wwafy % e A I F TR0 g A o e &7 el ad # w1l 93 F weg
F1 FH G0 F ) S R Ffe? el o AR e, W e @ s B W
worft wrafn wowd g 9T e #7
Is depreciation charged due to fluctuations in the value of fixed assets? Should
depreciation be provided even if the firm is in loss during the financial year? Do

firms charge depreciation on fixed assets, although the market value of the
assets is higher than its book value? 10

8. (a) TF FH % UFg YaTe aY1 #Y YaTg faewuil & avm wp w7 fyawi =) $ar =3 F F0
wEw 87
Distinguish between Cash flow and Fund flow statements of a firm. What is the
significance of preparing these statements? 10

(b) Gsft s=fEn B S Fit A w1 w0 wew R0 7 AR St R A, wEar s B orE | w6
Bl B7 39 IW ¥G HAO WE Hif |
What is the significance of cost of capital in capital budgeting? Is the cost of

preference shares lower than the cost of equity shares? State reasons for your
answer. 10

(c) T % F s € 20,00,000, siEdasiie @@ € 14,00,000, @Rl @ € 4,00,000 a9
10% =47 ! & & ¥ 10,00,000 0 3| yaTeH, foefa w6 g foats 6 e i) af
®H SN G WA G A (o o g Fo) FF T e = R, ) e % SuR W
e & foret 9T ) oA 27
A firm has sales of ¥ 20,00,000, variable cost of & 14,00,000, fixed cost of
¥ 4,00,000 and debt of ¥ 10,00,000 at 10% rate of interest. Calculate the
operating, financial and combined leverages. If the firm wants to triple its
earnings before interest and tax (EBIT), how much of a rise in sales would be
needed on a percentage basis? 15

(d) () W TEgE A Fa T2 3fa ¥ v fawvm A oft o wrlifes 39w S R, S R 9%
4§ gfeaifie & fawg @we1 < #1 3% gfte 1 wia # wefera seifie fagom sreenl % wed
7 wltgo Hifsg)
(ii) e fauum sl = Fafa 0 g ywfe FrE e aa yada 7 w1 g8 §
e i |
() ‘Everything is fair in love and war’ and marketing is considered to be a
strategic war fought against competitors in a civilized manner. Examine

the above axiom with reference to prevalent unethical marketing practices
in India.

(i) Briefly evaluate the relevant legal framework and enforcement mechanism
to curb unethical marketing practices. 15
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MANAGEMENT (PAPER-])

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be
attempted choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the
authorized one.

Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left
blank in the Question-cum-Answer Booklet must be clearly struck off.
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Wus—A / SECTION—A

1. (a) frofa o 2h aE Fra THR B R B 1 A EeATe g (fesgm) & 3ol
grifreRar 87
How does the Delphi technique of decision making work? Does it have
relevance in contemporary organizational design? 10

(b) F At B i AR A T @ e @7 Frercomrenss, FRFATEHS 3N TER =E % Hadl A
FH o Pt B W @ § 1 T ST i /ama wenl ) % mnfaa wa R?
Are being legal and being ethical same? Employees look at their employers in

terms of distributive, procedural and interactional justice. How does violation
of these affect industrial/human relations? 10

(© aasﬁaﬁtaiaﬁ%aﬁawﬁm%?s%aﬁmuﬁmﬁmi?ﬁ%mﬁﬁaﬁgmﬁﬁ
= fifv)

What are the differences between goals and objectives? How is management by
objectives better? Discuss the improvements it brings about. 10

(d) mmﬁm%%mﬁammwﬁm%mwﬁﬁwtwm%%aaﬁ
wﬁﬁﬁ%mﬁﬁmﬂﬁgﬁq%m%ﬁswmmﬁwmm%lﬁﬁaﬁ%
fafeaml Y =amE 3R TS JediE BT

Adam Smith has stated that public interest is served best when, individual and
business pursue self-interest. Milton Friedman in the same line has said that
the sole purpose of business is to make profit. Explain and critically evaluate
the implications of these ideas. 10

(e) WS A T, mmw-mﬁﬁmﬂﬁmm%?amaﬁﬁﬁﬁm
RN
How has Freud classified and explained id, ego and super-ego? How do they
shape our personality? 10

2. (a) T YO FeEa ¢ “zfs Fae A T 78 W) i Non F w2 & s a1 wHER
ST § s FE-eaiE AR ol mhke (Agerd) aRE B N F0 T At
woreh R 6 ge T T 9 AR
There is an old saying that “individuals do not live by bread alone”. Explain its
meaning in the context of employee motivation. Compare and contrast the
motivation approaches that are likely to be more effective in industries
employing knowledge workers and manual workers. 20
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URC-U-MGMT/44

(b)

(c)

(b)

(c)

e G S Y YU 5 e w w R @ Rl e e § da S
wiftre & i 1 W) w iR aRom 31 F W 2
memwﬁséwﬁﬁma@éwﬁﬁaﬁwwmﬁmﬁ
HEAEHA F1 B 8¢

“Human resources management is a part of every Manager’s job including
that of Production Manager or President because ‘getting things done and
producing results is the name of the game’.”

Critically analyze the above statement. Why do big corporations require
separate human resources department?

sty 7 3 e 4t $ T e S sfgf A T § fawd w5 e,
e st TehA ¥ YR A Ry i w2 R7

Enumerate and explain the different kinds of attitude measuring scales. What
advantages does the Likert’s scale have over Thurstone’s or Guttman’s scale
to measure attitude?

“gd-wfafda (sfi-Tenfire) Rigrawt Y 9 veaE 7§ wwensl B T@ w0 % g fafe
afE 9 el FO | i 9 R et st (i) fremeed % fe 3
Anfe ik Tomate AF REruRd @ee @l (o) & fou sifte = off)”
w©-vfafa (h-senfiea) @ gfada (e R o 9% g W TN e
T T FOH IR A

«pre-classical theorists emphasized more on developing specific techniques to
solve some identified problems. However both scientific and administrative
schools of thoughts given by classical theorists were more all pervasive in their
approach to organizational design.” Substantiate this statement highlighting
pre-classical and classical theorists and their approaches.

o e # ST g F e ¥ w0 Hro &7 e @ed % | e @ H
o ) SRR wTe, Shu=ieh §1eA % FEE § F GfERE 8 whal 8 7
What are the causes of formation of informal groups in an organization?

Compare formal organization with informal organization. How could informal
organization be detrimental to the working of formal organization?

HETHR F Fewl THR FA-B A §7 7 wamesn FRAt @ wafi € &, < wfew # s
2 % oir T SRR W) FW R A § )Y gt w0 ¥ ol R A fn o v 7
What are the important types of interviews? Often interviews are affected by
errors that creep in the process and undermine their usefulness. What are
these errors and how can these be minimized?

15

15

20

15

15




4. (a) NG WHER H Tod W IR i safrar F e v dey 27 S 99 2 ol sqmEn R
% fore 7% few y@R &1 7R gRa W 27
What is the relationship between Government of India’s initiative of ‘Startup

India’ and entrepreneurship? Who is an entrepreneur and what kind of
innovations does he or she create to create an enterprise? 20

(b) T HY AEgl gt e B 3 vafat e dae w5 fRE SR TR
2 T & URARE i FEH TS, R T e WHo & Ft wae 1 T 27

Discuss the important trends in business. How are these trends shaping
human resources management? Why is conventional human resources view
being replaced by strategic HRM? 15

(c) “HU AT YEE F AR W GHOAF 3N THOHF A I F WY EREE w9 QA g
TS T T 1 30 HA * e § it wd weum a1 sren iR

“Conlflict is a naturally occurring phenomenon with both positive and negative
effects depending on its management.” In the light of this statement, explain
the different conflict management techniques. 15

@us—B / SECTION—B

5. (@) ¥ R AR GHRE: T A wiftwt €7 o 3 A @ w07

What are the common misconceptions surrounding cost of capital in practice?

How would you dispel them? 10
(b) e WA AR Frun @lie § 7@ i 7
Distinguish between leasing and hire purchase. 10

(c) T3-MYING 12 . & 3R I8 Tl «ioe A ¥ i Aan {7

What is zero-based budgeting and how does it differ from traditional
budgeting? 10

(d) ‘IR, IS F Tl F q0F A e N T e Fif saRt | Rifm SRR 6
e FY it IR Iraera F T 99l 39w Rao el % TR ¥ Qe 5% geia
AT
“Products differ in the way consumers buy them.” Elucidate. Explain the

different categories of products and relate them with the type of distribution
approach that is most appropriate for their availability. 10

(e) TEHi i TR sTava & A TdHF He F A § Sy wY o v ¥ R e T8 2
T I8 g 87 Faom Pfeand 1 v & w@d g Egh w s S e g6y 9w
Customer satisfaction is necessary but not sufficient to survive and thrive in
present-day markets. Is it true? Explain the relationship between satisfaction
and loyalty by focusing on its marketing implications. 10
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6. (a) I9YH W|E TN Figars A SyauRon F WY F FHgEC

Briefly explain the concept of conservatism by giving suitable examples. 10

(b) 319 H wmW A § X, Y wd Z HuhE F fig wafe R atw e yer § -

faraor X Y z
fesht % wfoem & &0 3 aiadHa == 6667 75 50
== =9 (?) 5,000 | 8,000 | 17,000
gitee e (i) 6 faft 7 8 3
o 3diem (<haw) < faft 2 6 4
ST T 35% 30% 40%

i) X,Y 3R z safE % e ema faawor danr i)
(i) ¥ FufEl 6 foxia Rl iR dwm W fwelt Aiftg)

The selected financial data for X, Y and Z companies for the year ended
March 31 are as follows :

Particulars X Y zZ
Variable expenses as percentage of sales 66-67 75 50
Interest expenses (¥) 5,000 | 8,000 (17,000
Degree of operating leverage 7 8 3
Degree of financial leverage 2 6 4
Income-tax rate 35% 30% 40%

(i) Prepare income statements for X, Y and Z companies.

(i) Comment on the financial position and structure of these companies. 20

(c) Tabm R A aR 71 Thrrgiams awEmst f =ren Hifve) fFa TR A TR Tw&= F
I=ria T BH 1 A9 ged ol | siftes e B @7 o el o g Fofat w3
Fortmron Tt 27
Explain different types of market or competitive structures. Under which type

of market structure, a firm has greater control over its pricing decisions? How
does a firm gain control over its pricing decisions? 20
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7. (@ 319, 2020 P TN A T ¢ % e T Foh A fdE g €2,00,324 F LS A
=g %) 3E st ¥ Rie oFa @R € 2,04,868 1 Y6 @ Tt #) 3 @l F stnei R
st ¥ ahomresy Frafifaa Sk anm g o

()
(%)
(iti)
(iv)
(v)
(vi)
(vii)
(viii)
()
)
(i)

AT G & HEE e ey (Tet-ferag)
AP G § T Suiera Aftege (Ta-fepag)
frfig @ § g e ™ (FRE)

ATa @A ® g e TR T

W =TS foheg e @ ke T

s et @ # T (3fee) T

§= = fadhie @ & s (sefee) fen T

HUSR AHEH foefa @ § s e

fortan forefig @ ® @ T

T e i @ § sifd

e 6 Bl Tl @ & @ T

L ¢
13,689
12,857
24,320
28,560

6,048
7,608
3,520
5,008
3,310
1,805
9,807

i AfeEt % EEr @M F WY arE el F IER T e #Ha g
forau-u3 R A

The financial books of a company show a net profit of ¥ 2,00,324 for the year
ending 31st March, 2020. The cost accounts show a net profit of ¥ 2,04,868 for
the same corresponding period. The following information was revealed as a

result of scrutiny of the figures of both the sets of books :

1)
(@)
(iii)
(iv)
(v)
vy
(vii)
(viti)
(ix)
()
(x3)

Factory overhead under-recovered in Cost A/c
Administration overhead over-recovered in Cost A/c
Depreciation charged in Financial A/c

Depreciation recovered in Cost A/c

Interest received but not included in Cost A/c
Income tax debited in Financial A/c

Bank interest credited in Financial A/c

Stores adjustment credited in Financial A/c

Rent charged in Financial A/c

Dividend paid recorded in Financial A/c

Loss of obsolescence charged in Financial A/c

¢
13,689
12,857
24,320
28,560
6,048
7,608
3,520
5,008
3,310
1,805
9,807

Prepare a statement reconciling the profit as per costing records with the profit
as per financial records.

URC-U-MGMT/44 6
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(b) fawea (ATA) deaw w0 § 3R 376 701 wew 27
What are Option Greeks and what is their significance? 15

(c) %mmw%mﬁ@mmw-ﬁﬁwvmmwﬁmﬁ@
I T et {7 R 7@ T § e e ) s S =ifve?
What are the key stages that a product passes through its life cycle? Is

managing a product during maturity stage difficult? Why? What strategies are
to be recommended at this stage? 15

8. (a) mm,m-mmwmmmmﬁ@mé?ym%m
THAM AR SR F1 989 § qui A
What purpose do the Baumol model, Miller-Orr model and Orgler’s model
serve? Briefly describe the similarities and differences between these models. 20

(b) “va % fodia &3 gul B T F v B wOEw AR F v R F w9 F Jw R @ o
3R 36% 9 F gur o W R F o e A, e st A0 ) a9 R goreh
5 Fneife 9 R WA F1 I w27
“Financial sector reforms in India were introduced as a part of the liberalization
policy of nineties and subsequent reforms were a move in the right direction

but inadequate.” Explain. Identify the weaknesses in the present financial
system. How can these be overcome? 15

(c) wairen 3R i (sraem) a9 ¥ fi9 ger Siw T &7 sheife T § fiRE TR 6
Tlie feufadt H sren fifm)

What are the key differences between consumer and industrial (business)
{ markets? Explain the different types of buying situations in industrial markets. 15
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faa~T DETACHABLE

UTTq (wgA-u=1)
MANAGEMENT (Paper I)

frefRa awa : i que 3T 31 : 250
Time Allowed : Three Hours Maximum Marks : 250

AIA-UF Tt fa9 srqear
I A F g Freafafea o = s araareigds o |
TEH 315 W & S QY wvEt # fwifor ¥ aur feed sk sieh M A B €
IRIIGAR HT FoT qI T & IR & ¢ |
W WA 1 AR 5 sAfard € 7 9w # ¥ gAE qve § -39 U 0 g A
Tl o I T |
TAF U /A & forg fraa s sas e o
AT % IR I g e # fog S ey, freew sera s wAw-ow #§ e w2,
3R 6 HIETH H T IAG TH-HE-IW (FA.C,) Yo F qayw w) fifds wm w fen
ST TRy | g wrerm & s s Rt wemm F oy o IR W 91E s et frenr |
WAl wsg-HET, et Ifeerfad €, F A st a9t |
9 IWRI & THAT H, I ATavad GHS, IUeh ATHI I THH WL €Y A I FF |

T & FATED AT FAHER G | sifien w9 F Ry 1w et F I A f awa &
STt At S/ HeT 7 T Y | FeT-H8-IR Yfeen # @relt B13 T HE 98 4T g8 & Wi o

ufd: e S |
QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions.
There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the

authorized one.
Word limit in questions, wherever specified, should be adhered to
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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1.(a)

1.(b)

1.(c)

1.(d)

1.(e)

2.(a)

Qus ‘A’ SECTION ‘A’

‘srreafRar & figia W sneid ‘aam’ﬁmﬁaré%aﬁﬁﬁvﬁ%aaﬁ
e ¥ ‘ypeeEr SR W @t W et R | yeTaR T H T |
THE T WRAE Wi W T % 9gd UWE A o |
@mﬁﬁqwmw&mmﬁmmmwaﬁm

‘Globalization’ seems to be at ‘cross-roads’ as increasingly large number of
countries embrace ‘neo-nationalism’ based on the doctrine of ‘self-reliance’. Briefly

explaining the concept of globalization, critically evaluate the impact of growing
‘neo-nationalism’ on Indian firms and suggest strategic measures for effective

management. 10
aﬁmw%?wﬁﬁﬁsqﬁa@aﬁw,mwmﬁwm%qyw
EUICH A
What is personality ? How do the big five personality traits predict work behaviour ?
10

I W SETEE Ve 1 € ¢ anesy {6 A g (TH.3R) & =R,
St < it % a  Efed B T |
What is strategic human resource management ? Explain how HR practices get
aligned with corporate strategies. 10
o o e SR wred # w4t fir g ¥ 7 a1 Tt 3R el wa A
T IR © 7
Why do organizations differ in their structure and design ? What is the difference
between a mechanistic structure and an organic structure ? 10
Wmmmmw%?gmﬁﬁm%mm-ma
AHGE © 7
What are the variable pay-for-performance plans ? What are the criteria for the
success of these plans ? 10
amfes Pt o § T F w9 A

(i) Sra=rd

REEINER
(iii) @THfd

(iv) TS A5, £ whirar 3R yem@sfierd $ gt S |
Compare the process and effectiveness of :

(i) Interacting

(ii) Brainstorming

(iii) Nominal

(iv) Electronic meeting, as group decision making techniques. 20
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2.(b)

2.(¢c)

3.(a)

3.(b)

3.(c)

4.(a)

4.(b)

4.(¢c)

ﬁaﬁwmwﬁgﬁﬁﬁﬁmﬁmlaﬁvﬁamﬁamﬁﬁ%m
Fiforg |

Enumerate the nine most identified power tactics. Discuss their relative effectiveness.

15
mr%ﬁﬁmmaﬁ%qgﬁma%ug@ﬁaﬁmavhiﬁﬁmgaﬁmﬁa
sl i ogf ¥ - 3 A # 7
Describe the major considerations in forecasting manpower requirements. What
are the supply sources of the forecasted manpower ? 15

SAN-44T & SreRuit &\ il el i (1w IR) &t sEuRon @
é@wﬁmsﬁlﬁmmnﬁ%&ﬁaﬁmﬁ%ﬁqa@eﬁuaﬁmﬁm
faevféra s weeit @ seATTE 3 @ g fif |

Briefly explain the concept of Corporate Social Responsibility (CSR) with industry

illustrations. Critically evaluate major initiatives developed by multilateral agencies
to measure CSR activities. 20

“uﬁm—ﬂmmﬁg&ﬁaﬁ%m%aﬁmmsﬁaéﬂ%m‘aﬁwl%%l”
TR SR o O /e R, 5 W 3 A T e R e e s B |

“If money does not make you happy, you are not spending it right.” Give your
views on the statement in context of money being a tool for motivation. 15

W T SRS wHT qareT ey (M2 TT AR W) F AR FA aTeh AT
aﬁé&qﬁmsﬁlﬁaméar%wmaﬁ(@#}m)&aéﬁr%mﬁaﬁ
(9 & wE) ik forelt R 2w F AmRE (&1 &t TE) F AR ] A O A
R R aRom 1 STeieTEF @1 § weaie S |

Briefly explain the distinguishing features between domestic and International
Human Resource Management (IHRM). Critically evaluate pros and cons of

employing Host Country Nationals (HCNs), Parent Country Nationals (PCNs) and
Third Country Nationals (TCNs).

15
Wﬁa%wﬁﬁaﬁaﬁﬁﬁmm%aﬁﬁamﬁ%ﬁaﬁ@a@aﬂﬁw
Wﬁmw%mﬁwﬁﬁwmaﬁﬁ?

List the various types of conceptual blocks that come in the way of thinking
creatively. What is the process of innovation that firms should follow ? 15

HET A ST H T | Wi fifiar awh ok § v e w
BHEes &I I qIEHIE et wd ga ffearat &1 qeaie fif |

Explain the concept of culture. Evaluate Hofstede’s cross-cultural classifications
and its implications in managing under culturally diverse situations. 20

Sefire: wEell TR e & el g wiew Bt wwe | I ¥ fohe R =4
Hied 1 AR sienfies waet & ford fear fwan 2

Explain Dunlop’s system approach model of industrial relations. How did Bomers
extend this model for international industrial relations ? 15
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5.(a)

5.(b)

5.c)

5.(d)

5.(e)

6.(a)

6.(b)

gus ‘B’ SECTION ‘B’

ﬁwmaﬁwﬁgﬁméimﬁmeﬁﬁmmﬁ@uﬁwmwmﬁ%&ﬁu
Wmﬁwﬁa@mmwm%?mmmmﬁ
IR F1 e afaa i |

Elucidate the basic process of marketing communication. What makes international
marketing communication process much more complex compared to domestic one ?
Justify your answer with suitable examples. 10

ae () § oawa Fifa w & fafem ffiet F ol ok wien @
FTAATHS & & eI Hfg |

Critically evaluate the pros and cons of the various methods adopted to determine
the cost of inventories. 10

fafm F1 & 7 fafa & awra: fF TeR B € 7 3 fRer fore v & AT R
T § ?

What is a swap ? What are the common types of swaps ? How are these investments
induced ? 10

“wﬁﬁwqgﬁwmg&%m%ﬁmﬁwmaﬁéwuﬁ% |’ a7 A9 FeHd © ?
= (ﬁ%ﬁa)mmmmaﬁﬁﬁﬁﬁwﬁ%ﬁm%?

“If sales forecast is subject to error, then there is no purpose of budgeting.” Do you
agree ? How can a flexible budget be used to control costs ? 10

TR fawlieRw 6 deed1 & aHAE | s IRl A e HifdE-19 F
Wmﬁmw%ﬁﬁaﬁmﬁaﬁw%waﬁmma&w
T % Ford T e AU SIEET Ao S |

Explain the concept of market segmentation. Prepare a comprehensive market
research plan to identify and target markets for newly developed herbal preparations
to alleviate post-COVID 19 adverse effects in international markets. 10

o Ry 7 & 7 il o R & g wRor - €

What is Variance Analysis? What are the possible reasons for different Cost
Variances ? 15

Sfew o FrRw & focf fasawo & fod; (i) TRaRa; (i) T we foam; w
(iii) TS U AT g B HaT A qHAT |
Explain in brief the (i) Conventional; (ii) The First Chicago; and (iii) The Revenue

Multiplier Valuation approaches for financial analysis of Venture Capital Investments.
15
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6.(c) (i) " dwa @ faiRa Fxar R, 78w faas 7 | w0 a9 38 e & g
2 7 SUgh I ¥ AU SR A st arfaa Fifvrg |
(i) ol yam &t Fma orifeEt S awem g sifges (hftrm) wmes @ @
dferd axA & forq we Fafastaa faafaar @icd sy ¥ S S ol
&l g1 é”\\ﬁq |
(i) “Cost determines price is a myth”. Do you agree with the statement ? Justify
your answer with suitable examples. 10
(if) Explaining the various types of pricing strategies, suggest a suitable pricing
strategy for a newly developed luxury cosmetic targeted at premium customer
segment. 10

7.(a) =7 facim a9 & SkM, XYZ fafiee 3 21,05,00,000/- it ® #5,00,000/- &7
A FATET | aRadaid @« ¥55,00,000/- ¥ | feefefaa $ e S
(i) FI & T G |
(ii) =7 o af & ford wm-forsag fosea |
(iti) "-fa=dq fasra afy afadasfier @t # 209% 6 3fg & |
(iv) W9 F T TR R 91 @ F ok wa-faeag s, afe fosmr w1 10% w0
fopan ST # |
During the current financial year, XYZ Ltd. generated a profit of ¥5,00,000/- on
a sale of ¥1,05,00,000/-. The variable expenses were ¥55,00,000/-. Compute the

following :
(1) Fixed expenses of the company.
(i1) Break-even sales for the current financial year.
(ii1) Break-even sales if variable costs increase by 20%.
(iv) Break-even sales required to maintain the profit as at present, if the selling
price has to be reduced by 10%. 20

7.(0) (i) T TE; (i) T 9GR; (i) irSM @1 uw wHEE; @ (iv) whew &1
gfdeR & e & sy ot & foda Rl & fewn 3@ 5153 2
How would you analyse the financial position of a company from the point of view
of (i) An Investor; (ii) A Creditor; (iii) An Employee of the firm; and (iv) A Supplier
of the firm ? 20

7.(c) YRR fauum il (S6) R s fevm F awe @ s e
ifrg | A e & A o oRRfT § e g Rkt g @
S @ TG el & TRy & IRaRe geur fasearst & sty ok fem ¥ ol
i fasfia $ifsg |

Critically evaluate the impact of online marketing on traditional marketing channel.
In view of the fierce competition by online retailers in emerging post-pandemic
situation, evolve a strategy for traditional retailers for survival and growth. 10
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8.(a)

8.(b)

8.(c)

Tt v safl & sma Gy, wiass § oaieT saftEl & g T & TR TR
e & 7 TG gor O Ud o RIS % IO S S9EnT aRa gy aHeE |
How is the income summary of the last accounting period connected with the
balance sheet of the future accounting periods ? Explain, preferably using the
balance sheet and income summary equations. 15

S yH@ Hehl R A @@ ffrg %t whism Ry stravass smsfer g9 i %
St T ¥ fouR oA 6t sravaehar # |

Highlight the major factors that need to be considered for a proper assessment
of the quantum of working capital required by a firm. 15

AR A 39 W@ wifyg oA vg s Sfa w sfya Rt dk-ad s
FUAd © | et grr s o e sifae seRRt @ wewtR aur @t
TG & foq formm i g &1 g ifsg | @19 &, = weR ¥
EERI H g g1 & Tt a=a v Suge o surat @ g dif |

Marketers often adopt means and ways, both fair and unfair, to establish their
supremacy in the marketplace. Identify key unethical practices adopted by the
marketers and evaluate the existing policy frameworks for its efficacy. Also suggest
suitable policy measures to curb such practices effectively. 20
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faqivq DETACHABLE

AT (wg=-9=1)
MANAGEMENT (Paper I)

fAufRa awg : 7 que HfeFaH 3 : 250
Time Allowed : Three Hours Maximum Marks : 250

ReA-TF FqEEeE fagw sree

IR W F qd famfafaga et &t woar amaaigEs o3 -
=T A T & N N west # fawfom & qur fe=dh sk stsh 9 § B €
IEflgaR F Pl AT AT F IR oA ¢ |
U AT 1 3R 5 s € a Srht 9 A ¥ TOE @08 § FH-9-FH UE T g d
Ul & IXK ¢ |
TAF T /AW foRr faa s e anw fim o ¥
T & IR I Wiikga wrem § forg s =ifen, e s s waw-aw § foar @ g,
AR T WEAH FT WE Jooig F-He-IW (FHLT.) few & qays | fFfE @m = fm
ST =few | wifiga wrew & afafen o fedt aram d o 0 SR W A o 4@ e |
el § ee-dmmn, et Sfeifaa 8, &0 | A =nfeu |
JH I & wwWAT H, Al avaE wHHA, IUGTH ATHSl oI IHH T €Y 4 Jool@ o |
T & yATE Y AT FHEER A ST@E | SHifien ' 4 R T gt & S o i Awan 6
Tt A S wer T W & | WA-He-IW Y # @t S T B I8 FqAT Y8 F 7w
& gfa: @ 3§ '

QUESTION PAPER SPECIFIC INSTRUCTIONS
Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and
in ENGLISH.
Candidate has to attempt FIVE questions in all.
Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.
The number of marks carried by a question/part is indicated against it.
Answers must be written in the medium authorized in the Admission Certificate which

must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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1.(a)

1.(b)

1.(c)

1.(d)

1.(e)

2.(a)

2.(b)

gusg ‘A’ SECTION ‘A’

veyd 3R JOT F A F TOA A H TeTH W | A IR B AT IuGh
Sereen grT fog |

Identify key differences between a manager and a leader. Justify your answer with
suitable examples. 10

vaem & faftrr gfeeror 1 & 7 Sugeh Sl afeq el SR e favemo &
it &t fadwand v @ wwEd |

What are various approaches to management? Explain characteristics and
limitations of any 4 approaches to management analysis with suitable examples. 10

e Ee AR T SEe & o= AR W | amie st figra, whd
HIFAT & TH faearR W ® 7

Differentiate between classical conditioning and operant conditioning. How is social
learning theory an extension of operant conditioning ? 10

“Fear A WY 7 A % YEST F S TF AR ¢ | QSIS GRadd & FaHT &
i gfewmr A v e |

“Change or Die!” is the rallying cry among today’s managers. Enumerate and
explain three approaches to managing organizational change. 10

U A R S % uflree 6 smawedr F aR # Jdret oF aTd gehdt @
Fram | fedl ad ) s 9 wERal F fort fohe weR & witeror wel € |

Explain the kinds of signals that warn a manager about an employee requiring
training. What types of training are critical for employees going on an overseas
assignment ? ’ 10

et Ud SR SRl % e Sfud Seedul afed SR W | w6 ITHI & HEA
g fit TEEH wK |

Differentiate between ‘Entrepreneur’ and ‘Intrapreneur’ with suitable examples.
Identify key traits of a successful entrepreneur. 15

‘A F FAER I gRT h ST @ ArEdfasar B Afd W snaiRka g e,
a1 5 arafiear | |7 TS F9ER & AAT H Ffd & W &l S9ER
I T W T W el W | Sl B uRE KA a FR HF R 7

“People’s behaviour is based on their perception of what reality is, not on the reality

itself.” Comment on the statement, highlighting the importance of perception in the

study of Organisational Behaviour. What are the factors that influence perception ?
15
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2.(c)

3.(a)

3.(b)

3.(c)

4.(a)

4.(b)

FafEal grRI FHAIRAT 1 oW 2 9 & 9F @1 quie | T R SEeiat %
HAITA 3R IATGHAT W I 9Tl THE TR 9] 3.7 39er @t & 7

Explain the rationale behind companies providing benefits to their employees. What

effect do companies expect, benefits will have on employee morale and productivity ?
20

FIfI2-19 FEMRI T3 T6-Tohd Jg T o1 ot Siaeisiyg weamsii 7 Afvas srerd
TR hl HEa ol &9 & UAIT foam R | YR ISR @1 W 375 WG &7 6y
# A K | aouH s FRIGR aaeRe # wuer R F o uw wEus #
AT T T At A e |

Recent international events such as the pandemic Covid-19 and the Russian-Ukraine
war significantly impacted global business environment. Briefly evaluate its impact

on Indian business operations. Identify attributes and skill-sets required by a manager
to operate under the prevailing global business environment. 20

A F AR fagidl & fram qur ger dwnt wn € 2 Jan e yer @
Tgvee U@ favam & fmfor grr s e W us gERieHE uNiE 2 g9 § 2

What are the central tenets and main limitations of behavioural theories of leader-
ship ? How can leaders have a positive impact on their organizations through building

trust and mentoring ? 15

Frd faseror F=r @ ?
freafafaa & @ ik et /ard -
(i) et fafy

(ii) ST weamaet faftyy qur

(i) st fafer

“What is Job analysis ?

Identify the advantages and disadvantages of :

(i) Observation Method

(i1) Structured Questionnaire Method and
(1ii) Diary Method 15
el g, TR TH ¥ FAIA & VAT SRS H qHA | AT F = F g
HR Td ESAAT H IeTH |
Explain the management concepts of Frederick W. Taylor and Henri Fayol. Identify
key differences between the two and their applicability. 15

ST S8 FA © foh TN a1, ST G & HIET SO a0F F FH FA £ | A9
foar @ | e # 9 & Gwifad watexlia, @rearers vd safmrg @ w1 § 2
Researchers argue that challenge stressors operate quite differently from hindrance

stressors. Give your views. What are the potential environmental, organizational and
personal sources of stress at work ? 15
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4.(c)

5.(a)

5.(b)

S.c)

5.(d)

d.(e)

6.(a)

FRERX & U URARes =R T E ? T O IO A A B A7 qAG GG g T o
qHad: &9 WERE ® | H9e fER & st w1 |

What are the five traditional career stages ? Which of the five stages is probably least
relevant to Human Resource Management ? Explain your view. 20

9us ‘B’ SECTION ‘B’

focfta faazor &t fafirm dmmst = sy ot | 3 fofm woR & @ fem an oo
& TR < aehar € 7

Highlight various limitations of financial statements. How can these be minimized
or resolved ? 10

TSt SR TF {51 9K A yq@ it ) g g |
Highlight the major differences between Capital Market and Money Market. 10

wiasr FgEy T g ? S H Afog-se # aeR & oy ffga w=w
FEAFEHAT FT B ® ?

What is a Futures Contract? Why do exchanges require future contracts to be
marked to the market ? 10

YTEw TS Fed i TheqdT &1 9uF &R 99T 3T el & 9T Aed g9y
Wﬁﬁ@mmﬁlwmmmﬁmaﬁ%&
THTfad T ® ?

Explicate the concept of Customer Lifetime Value (CLV) and its applicability in
Customer Relationship Management (CRM) with suitable examples. How do IT
applications impact customer retention ? 10

WRAE "ol # gEaeRw e faRer i wee @ Sfya Serewn |fed @ SEd
wafya frams o= A s |

Explain the concept of transfer pricing with suitable examples and related regulatory
framework in Indian context. 10

Sfaa Sgewt wfeq w9 witfeafrat ot awemd =8 qeagm & fafim qadet
IAN BT |

Explain the circumstances under which different methods of depreciation can be
employed by giving suitable examples. 20
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100 & & T 1 PR F99 R 8% & 5 98 SR 37 BRI | = i

6.(b)

e A T B R 12% & 7 (Ge ¥q A Wew ?)

A X100 par value bond bearing a coupon rate of 8% will mature after 5 years.

M H I M

TR

Interest is payable quarterly. What is the value of the bond, if the discount rate is

12% ? (Chart given for reference)

15
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6.(c) Tawm FuR fsor & wewea wwed | FreweR fRr weEd w6 anm g
SedTfed WRA & SEAKA IUrEdT aTelt bl % fauve ¥ w9R e 9w wo

ard FRe @ fafgd #+

Explain the concept of Marketing Communication Mix. Identify the factors Influ-
encing Communication Mix for marketing India’s finest quality Coffee produced by
Chikmagalur based Coffee Plantation Cooperative. 15

7.(a)  =AIRE whiew # awdm it sragear w61 St @ 2 Sudr S o 2

Why is Budgetary control required in a business concern ? What are its limitations ?
15

7.(b) #aﬁﬁmsﬂa&mmaﬁa(MIRR)w%?w%w-ﬁsﬁahazaRmaﬁzg@
FAAE T (NPV) & o | =0 oW 41 gifvar &1 § |

What is modified internal rate of return (MIRR)? What are the pros and cons
of MIRR vis-a-vis IRR & NPV ? 15

7.(c) (i) UG Sfad =% I Theqdl qHe qu FAfafeg & R Sef wasgan
aaﬁ:
(1) MaTzd B
(2) 911
(i) TR @ T SaOEt & I NaT 9% F fifm o & fR Rove orify
EECH

(i) Explain the concept of Product Life Cycle (PLC) and its applicability for the
following :
(1) Mobile phone
(2) Tea 10

(i) Suggest marketing strategies in different phases of PLC for the above products.
10
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8.(a)

8. (b)

8.(c)

Y & T TES ABC fifiee & waEfa @ S AU S AR S € |
The data below relates to ABC Ltd. which makes and sells laptops.
February January

— fosht (3@13) » 8000 12000
Sales (units)

_ I (3HT3) 12000 8000
Production (units)

— yfy afte fsht /=@ (%) 120/- 120/-
Selling Price per unit (%)

— ufy gfte aftEdea Sced @rE (%) 60/- 60/-
Variable production cost per unit ()

— fafsaa s st @rE () 1,50,000/- | 1,50,000/-

Fixed production overhead incurred ()

— wfy 3 ffea S Ikt @r,
N ¢ gEfaifia Fo s@EeT ) () 10/- 10/-
Fixed production overhead cost per unit,
being the predetermined overhead absorption
rate (%)

_ forhY, freror, wymEs @wa (@ fAfsa) (%) 75,000/- 75,000/-
Selling, Distribution and Administration cost
(all fixed) ()

frafifed o1 STEN HA T AT W AEW F fordt R o faeor weqa
AT % s
(i) @ AN
(ii) dHTE aRd
You are required to present comparative profit statements for each month using :
(i) Absorption costing
(ii) Marginal costing 20
frf G & T IR 1 § 7 Ffia dee & fafm wwon & foet & o
AT ST ATt STh e UHITA TR W STl |
What are the primary causes of corporate distress ? Highlight the appropriate
restructuring strategies that can be adopted to deal with different causes of corporate

distress. 15
W@ gt i gea o fed 5 a§f & gEAT-guR WS 3 wEfad fagom
gt ) uRafia &% far | o9 SR @ Sugeh Sereddl grr Sfua fig & |

Identify key areas where Information and Communication Technology (ICT) has
transformed prevailing marketing practices in the past 5 years. Justify your answer
with suitable examples. 15
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TyA-UR Tt v argew

W A ¥ @ Prefafad FE ) Fen a@urigEs aieu)
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MANAGEMENT (PAPER-I)

ﬁme Allowed : Three Hourﬂ maximum Marks : 250]

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the

space provided. No marks will be given for answers written in a medium other than the
authorized one.

Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of
a question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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(@)

(b)

(c)

(@)

(e)

(@)

(b)

@Us—A / SECTION—A

"SRR 1SR Eed A e fuifa w0 § reeat i R 217 @

“Span of management plays important role in deciding organization structure.”
Explain.

it s ST & s e SR e fefe @ 8§, 98 wee, v w sl
ﬁl”

with 1 qod Wewl Uee 78 @ 6 9w fofar %1 v 21 3@ qem % oelw § IR Ru M
Foa | roqoft Hifs

“Dependency is increased when the resource you control is important, scarce
and non-substitutable.”

Comment on the above statement in the light of the fact that the most
important aspect of power is that it is a function of dependency.

wod a1 8N % for e fafte wifefel B o AR der  fig g mn mem g
1 IR A W FY g9 Srera 87

Enumerate the different conditions needed for conflict to arise. How does
the channel chosen for communication have an influence on stimulating
conflict?

“uftept it fien e fwm § o= ot 21
A e hit TTUR THAEY a9 3HF AEd) IR RYE W THW e

“Workers’ education is the latent energy in economic development.”

Explain the concept of workers’ education and highlight its aims and
objectives.

Rt T # WgE AR dearst F 9 F0 €7 o9 v % vge g % e A R e ¥

What are the major collective bargaining issues in Indian industries? What
do you foresee as a major issue of the future?

fohe w7 % foq ws o=t A Tk o @e, g A gew RRe YR wEwEE
FA &7 A oRER i e i)

How do mission, vision and values help in developing good plan for an
organization? Explain planning premises.

TF AT G137 F GIeATHS G il TG G4R T | T8 TF GHER @eq Ht G
@ fohw wohr o }7 frm R w1 Sam STl weTers e % R watfs suge 37
IeTEW Higd FHET|

Outline the organizational structure of a virtual organization. How does it

differ from a boundaryless organization? Which type of industries is best
suited to a virtual organizational setup? Explain with examples.
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4. (a)

(b)

(c)

iR, Srshifasst Qsn, strifasnt fasm wa oTfifast geum & A o7 hifsw) shifas
T & yq@ fequns w9 27

Differentiate between career, career planning, career development and career
management. Who are the major stakeholders in career development?

“uF e % TR g B Fha & fhg EeTe EER A9 <TH 9ga i @ §
FRGT ¥ Fafoa givon w HFa & k)7

FEaA ¥ Fetva fafim gwon $i e i) 9 e TwR o= R-wEas et gRe
q fim #7

“A person can have thousands of attitudes but organizational behaviour
focuses its attention on a very limited number of job-related attitudes.”

Explain the different job-related attitudes. How do they differ from other
non-job-related attitudes?

‘g MR % YeEeH &1 319 Wit § FH a1 vtk ® gfg 377 SareATeRs saren Hifi|

“Does delegation of authority mean loss of power or enhancement of power?”
Critically explain.

HI§ G A el ufskn h gwrEficar S Ruifa s 87 sl afen # @ ach S
AE A w= F Ty, @t gr o faeedt v R St 27 wwems)

How does an organization determine the effectiveness of its recruitment
process? To avoid the high cost involved in the recruitment process, what
alternatives are used by organizations? Explain.

HHE HEIEA gE1 YUrell, WHE gH1eA foven vd em gWied e % me vga eia @
Fomifea it @ 7% Iugw sgwEm ) = IRt wa @@m ge et @9 @
uiA TE e fifv|

Highlight the key differences between human resource information system,
human resource analytics and enterprise resource planning, and give
their suitable applications. Illustrate and explain a typical human resource
information system framework.

T T W Ated fFE TR fET, T @ Greers faw f wrie B e
Fa1 87 ¥ g aftia, T fiem @red & o aifsa sagr afteds @@ #7
How does a learning organization model integrate the strategies in the domains

of individual, team and organizational learning? What are the desired
behavioural changes for a learning organization as described by Senge?

“ura = e o safEl grn fer o enfasert w sk |’ s e hifsg)

“Economic development of India will depend on the inventions carried out by
entrepreneurs.” Explain.
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(b)

(c)

(d)

(e)

6. (a)

@Uus—B / SECTION—B

e wmea § fadfla #ed % Rl w@ Pofdt i Afe w ==t Hifg

Discuss on the objectives and categories of decisions of the finance finction
in an organization.

‘mm’%ﬁwﬁmmmﬁwm%mﬁmwmm
(3:|'|30 Tho 3HRo mo)%@ﬁﬁﬁ“ﬁéﬂ%ﬁl

Elaborate on the objective of ‘Accounting Standards’ and discuss on its
significance in the emergence of International Financial Reporting Standards
(IFRS) as Global Standards.

%o To ThHo o () Fo GURl A g fRwarelt w Rwvht Hiftm

Comment on the salient features of the EASE Next Reforms.

o g SR R U et Rwvm W wEm T sifig o deh-wmeh o @
afoms #1” 3I9gE Iee [ gY R @ wwemw)

“Marketing is everywhere. Good marketing is not a coincidence but a result
of well thought strategy.” Elaborate giving suitable example.

"ITER-HfRA FuiET et e A Fard & T g wew dew v @ ) arees G
w1 WE Ald g GHAEY| e sft i

“Customer-centric companies are building customer relationships and not
Jjust products or services.” Explain giving importance of customer satisfaction.
Give examples also.

T @ AW A D el F it AR Ry g §

faeror w5 A () %4 B (¥)
S @ 25,000 10,000
IEEIRIELS] 1,25,000 60,000
FA HUf 75,000 30,000
Teederdt (3fdh) 25,000 20,000

(i) i favemm % snur W Rl (3fRR) % e (3Re 3o $0) ) TR i)
v fore S ) yae w017

(i) =are foverr i dard @ §7

SKYC-U-MGMT/12 4

10

10

10

10

10



Given below is the data of two firms in the same industry :

Particulars Firm A (¥) Firm B (¥)
Net Profit 25,000 10,000
Sales Revenue 1,25,000 60,000
Total Assets 75,000 30,000
Equity 25,000 20,000

(i) Compute the Return on Equity (RoE) based on DuPont analysis. Which
company would investors prefer?

(i) What are the limitations of DuPont analysis?

(b) Toedt v it G G A R [ T, fF FRE B AR A w@ TavEs 17

What are the factors that need to be kept in mind while designing the capital
structure of a firm?

(c) “‘faum =m@ foiat | qeg Jeas faswfa g 1 39w Sl hl wEEd @ ReRd] % 6E
% g9

“Marketing channel decisions lead to developing value network.” Explain the
importance of intermediaries giving suitable examples.

7. (a) A fafite 6 == ik 0 A vgat i FE (S0 Ao Mo o) ¥ 10,00,000 ) HGH F U
12%, ¥30 wr@ fea= 21 3t $sfimmr = (K, ) 20% )

FrafaRaa 6 o ifse -
(i) 3R 1 TR g 3R wH A T
(i) ISt A FA TG

A Ltd’s EBIT is ¥10,00,000. The company has 12%, ¥ 30 lakhs debentures.
The equity capitalization rate, i.e., K, is 20%.

Compute the following :
(i) Market value of equity and value of firm

(i) Overall cost of capital

(b) THS VAT I FHEIA F FS YRENF Tha 1 87

What are some early signs of cash flow problems?
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(¢ () “hma, Feom fso w1 waifues seegd @ 21 fRem Hifteg

“Price is the most important element of marketing mix.” Discuss.

(i) 3 h HHa A qfEd T F GE GHG 98 FA F AR ) wWE e w1 e
| ® 76 g Fma-fufor wAify s % de § @np 27 seem S

Elaborate the process to decide right time to change price of product.
Do you think leadership pricing strategy is applicable in today’s context?
Give examples.

8. (a) TH WM ¥ M, 4500 ¥HEEl A wfEn A # @mn @) ffee ® gmm af @ sgEm
8% 91| HEH % 37d H, 2600 FHEA! =1 ITEA e T 3iR errel Wik & womiafa v R
T, 1400 el syl Rffa off aar 500 sl F T2 W R ) 7@ SgEm @ T
& ol sreat SR & Frafafes v w ge T o
Afi—80% Ui
FH—60% o
IIRET—50% ot

R T 4500 $HEE H @@ € 10,500 oft| WA % W @t yeaw wvwh @
T 2,400. 3R IR € 3,490 §A1| YO #° € 5,460 | @ (7@ H ) Ed
¥ ¥3 wfa 3 v e W wEEEt v ¥ R R € e 3 anh, s qon suRem F

9y § 100% qoi off)

Frafafga st % 3w A

(i) |G IeTeA 1 frerr Gam i)

(i) SFEH B, FR A 3R 3w 9= wie i dva w1 g B
(iii) WTHAT A G T ITHME B 1 @il 4R Fifvm)

During a month, 4500 units were introduced into process A. The normal loss
was estimated at 8% on input. At the end of the month, 2600 units had been
produced and transferred to next process, 1400 units were incomplete and
500 units had been scrapped. It was estimated that uncompleted units had
reached a stage in production as follows :

Material—80% completed

Labour—60% completed

Overheads—50% completéd

The cost of 4500 units introduced was ¥ 10,500. Direct materials introduced
during the process amounted to ¥ 2,400. Production overheads incurred were
¥ 3,490. Direct labour was ¥ 5,460. Units scrapped realized € 3 each. The units
scrapped have passed through the process, so were 100% completed as
regards material, labour and overheads.
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Answer the following questions :

() Prepare a statement of equivalent production. 7
() Evaluate the cost of abnormal loss, finished goods and closing stock. 10
(i) Prepare the process A account and abnormal loss account. 8

(b) Few & (Wwifem) yaem F wgE e =0 7 faw gt (AR ¥ geaiea § wm e
I Ig@ AT h g TR

What are the major objectives of portfolio management? List the major ratios
used to evaluate a portfolio. 10

(c) ““WR-envwr Tl F fave e 9t e 1) wre i) -enverd faaom ¥ fafte smm
F1 87 avia Fifsw)

“Marketing of non-profit organizations is a great challenge.” Elaborate. What
are the various dimensions of non-profit marketing? Explain. 15

* ok Kk
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